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Question Number : 1 Question Id : 630680280237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the first woman to be featured on the ‘wall of former chief economists’ of the IMF?
Options :

1. ¥ Gita Gopinath

2. % Bina Agarwal

3. # Rajshree Agarwal

4. ® Prerna Kundu

Question Number : 1 Question Id : 630680280237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IMF 3308} '$50°28 s e88SS e Fe8' (0 @39 87320 DD DET"DRV) 20 801322 B Tncde3 e e ed?
Options :

1. ¢ f Fooed

2. % D eofior s

3. % ora3R eorsS
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4. % 7388 Soodr

Question Number : 2 Question Id : 630680280238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which nation passed the ‘Inflation Reduction Act, 2022°?
Options :

1. ® Sri Lanka

2. # Venezuela

3. % Iran

4.+ USA

Question Number : 2 Question Id : 630680280238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1853590 5705 0, 2022'A STFEODS TFO DE?
Options :

1. % 13008

2. 8 JIderer

3. % Q0°Q

4. ¥ A0V

Question Number : 3 Question Id : 630680280239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which country is taking the lead in hosting the Summit for a New Global Financing Pact on 22 and 23 June 2023?
Options :

1. # Japan

2. # England

3. ¥ France

4. % Finland

Question Number : 3 Question Id : 630680280239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2023 257°& 22 BN 23 B SehS (DNDOTS DIPRION 200050 FHO DN HB0 e8838550 RH §c80eS” & B0
INWelaVelnY;

Options :

1. % 233°Q
2. % 0008
3.9 @700
4. % dro&

Question Number : 4 Question Id : 630680280240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2022, who was chosen to serve as the WHO's new Chief Scientist?
Options :

1. ® Zaliha Mustafa

2. ® Soumya Swaminathan

3. ® Preeti Sudan

4.+ Jeremy Farrar

Question Number : 4 Question Id : 630680280240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
202265, WHO By, 8 (396 B Je3ST ODTITE a)eS&0?
Options :
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1. % 8O3 S0 (Zaliha Mustafa)

2. % 0§ LT AN (Soumya Swaminathan)
3. % @)@ QT (Preeti Sudan)

4. ¥ BB HO°D (Jeremy Farrar)

Question Number : 5 Question Id : 630680280241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On 5th July, Taiwan announced opening of its third representative office in India in to boost economic linkages.
Options :

1. ¥ Bengaluru

2. ¥ Mumbai

3. # Hyderabad

4. ® Shillong

Question Number : 5 Question Id : 630680280241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

308 0L DS S0 TONERE BT Q) 0TS (DBI § ST ANV 2B HTF0S'Q &
SBETO 2B 5 &, (DEE30D0A.

Options :

1. ® Zonsrdd

2. % 500

3. % 25700072

4. % 2er0h

Question Number : 6 Question Id : 630680280242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In June 2023, who sworn as the Prime Minister of Greece?
Options :

1. # Nikos Dendias

2. # Kostis Hatzidakis

3. % Kyriakos Mitsotakis

4. % George Gerapetritis

Question Number : 6 Question Id : 630680280242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

278 2023 ¢, (AR (DG S00(BT [DXTIR L5 E0 TRSE DB?
Options :

1. % T BoAASTD (Nikos Dendias)

2. % 89 ¢80 (Kostis Hatzidakis)

3. ¢ 8805r8° 0 & )Er8R (Kyriakos Mitsotakis)

4. % 230 To°(¢3¢3R (George Gerapetritis)

Question Number : 7 Question Id : 630680280243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

In a test flight for cloud seeding in June 2023, which of these institutions successfully demonstrated the effectiveness of their ‘artificial
rain’ technology?

Options :

1. # The Indian Institute of Technology, Delhi

2. # The Indian Institute of Technology, Mumbai
3.+ The Indian Institute of Technology, Kanpur

4. % The Indian Institute of Technology, Kharagpur

Question Number : 7 Question Id : 630680280243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1B0& J0QOS’ 278 2023 ' TG DEON FEE T WE-” 50 ‘EY B0 SF0° rOTHES Toogy, (Derer)
Q230500 (DIEIODS HO® DE? .
Options :
1. % & 08098 9S-SS e Bosy 28, &
2. % B 00008 AS-ETLE & B5T) 28, SN0
3. ¢ & R0A0HS AV @D Bse) eef, 5230
4. % & 308008 AS-ETE & TS 02, HEH-I°0

Question Number : 8 Question Id : 630680280244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which company, in collaboration with ISRO, launched the "High throughput satellite (HTS)" broadband internet service?
Options :

1. # Jio Infocom

2. % Vi

3. % Hughes Communications India

4. # Bharti Airtel

Question Number : 8 Question Id : 630680280244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ISRO OS5 B068 33 (759D 3°¢3BES (HTS)’ (237G 508 @0ST° 085D (E0D0DS Do dE?
Options :

1. % B3 RS )50

2. % 0

3. % 50750 05D TAR) QOGOS®

4. % 2736 DONOBO

Question Number : 9 Question Id : 630680280245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Name the city which hosted ‘Indian Mobile Congress’ in 2022.
Options :

1. ¥ Ahmedabad

2. % Bengaluru

3. ¥ Mumbai

4. ¥ New Delhi

Question Number : 9 Question Id : 630680280245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202265 “Q0B0HS INBS SORR’ F0 B3¢950 VDS SHE0 K D&Y I0A.
Options :

1. ¥ @72 rs

2. % 2300%5 %

3. % oz

4. % S35&O

Question Number : 10 Question Id : 630680280246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which field is related to the recently introduced VAIBHAV Fellowship Scheme?
Options :

1. ¥ Research

2. % MSME

3. # Finance
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4. % Sports

Question Number : 10 Question Id : 630680280246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2350 (B3 S B&HS (VAIBHAV) DS 0D HHSIE H022080DS 3050 DE?
Options :

1. ¢ 585

2. ® MSME

3. % 0%

4. % 8chen

Question Number : 11 Question Id : 630680280247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which nation launched the Shiyan-14 and Shiyan-15 experimental satellites?
Options :

1. ¢ China

2. ® North Korea

3. ¥ UAE

4. #® Iran

Question Number : 11 Question Id : 630680280247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 AITS-14 OO DATS-15 (DT % GIHITFO (DTFRODS TFo DE?
Options :

1. ¥ 3[o°

2. % &S TOHAST

3. % UAE

4. % Q0°Q

Question Number : 12 Question Id : 630680280248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which organisation made a "Ocean Wave Energy Converter" that can turn sea waves into electricity?
Options :

1. # NIT Warangal

2. # 1IT Bombay

3. # IIT Delhi

4. ¥ 1IT Madras

Question Number : 12 Question Id : 630680280248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DHBVED) @08 D0 S8 ) BAANS DS DIE £ 586’ ST TOS DD DE?
Options :

1. % QJ%0¢3 SB0K8S

2. % ¢ a0

3. % poed &

4. ¢ 02¢3 TR

Question Number : 13 Question Id : 630680280249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which city is home to the independent Raman Research Institute, an organisation under the Department of Science and Technology?
Options :

1. ¥ Pune
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2. % Bengaluru
3. # Hyderabad
4. # Chennai

Question Number : 13 Question Id : 630680280249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

DS SHBA5N OTBES D20 €3¢ §B50ER D §50(e5 T?NS DBILIT® HDOVE AOOHOM €5d) SHB0 DE?
Options :

1. % 8

2. ¥ 2300857

3. 8% 22007 d

4. % TI]),

Question Number : 14 Question Id : 630680280250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the first time in five years, growth in education loans not only turned positive but also registered a per cent surge in the last
financial year ended March, 2023.

Options :
1. % 10
2. % 14
3.9 17
4. % 25

Question Number : 14 Question Id : 630680280250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%65 €308 005565 Y50 SPAVS S8, 2023 & 8N D0 YT DNCIES 6 D8 BTN O e E0MTPR SO
CRITVEINI A O WWid(o WS

Options :

1. %10

2. % 14

3.9 17

4, % 25

Question Number : 15 Question Id : 630680280251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gennova Biopharmaceuticals, which announced in June 2023 that its nRNA COVID-19 booster vaccine - GEMCOVAC-OM received
emergency use authorization (EUA) from the office of the Drugs Controller General of India (DCGI), is located in

Options :

1. ¥ Mumbai
2. ¥ Pune

3. ® Hyderabad
4. ® Chennai

Question Number : 15 Question Id : 630680280251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

278 2023 ¢5° €5 mRNA COVID-19 20705 ¢35°- GEMCOVAC-OM & (58300 BS'ar 2Braromdre3ss ), e e
& (&80 0[5 2338S €35 YOO (DCGI) 0 €965 5398 DTN OSSO0 (EUA) ©D0D0R. A
GO&.

Options :

K INWIOEA]

2. % B

3. % 35700072

4. % TI]),

)
&
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Question Number : 16 Question Id : 630680280252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Who appoints the chief justice of the Supreme Court?
Options :

1. % The President

2. # The Governor

3. # The Prime Minister

4. # The Chief Minister

Question Number : 16 Question Id : 630680280252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DDOED (DG T500TER DS DO E?
Options :

1. ¥ O QD3

2. % (5580

3. % DS SHoled

4. % 20 5O(ed

Question Number : 17 Question Id : 630680280253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match dates given in group I with the days observed in connection with some
social issues given in group II.

Group —1 Group —II
I. 11 January 2023 a) National Human Trafficking Awareness Day
II. 4 March 2023 b) National safety Day
. 11* November 2022 c) National Education day
IV. 24 January 2023 d) National Girl Child Day
Options :

I.¥1—all-b,ll-cIV-d
2.% [—a,lI-d,ll-c,IV-b
3. % I—¢,II-b,1l1-a, IV-d
4 ® [—¢c,l1—a I-b,IV-d

Question Number : 17 Question Id : 630680280253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pariro | 6° gagdd 8do daurro | 6° aoads 2y Jroans

DDVLOLD DD20HEDD TBD  RAEDD Ferern 2000508

a0 — | araseo - |
. 1 &350 2023 a) AAD HFHD VED CareE WD BSSDo
1. 4 o8y 2023 b) erdian esew &Ieydo
1. 1 ddowb 2022 c) erdan Dy OFeSyHo
V. 24 2550 2023 d) edan ards® G0
Options :

I.¥1-all-bIl-cIV-d
2.8 1-al-d-cIV-b
3.8 [—c I-b1l-aIV-d
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4. % 1—c ll—-a, lI-b,1IV-d

Question Number : 18 Question Id : 630680280254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who achieved a historic milestone by securing India’s first-ever medal at the Asian fencing championships in Wuxi, China?
Options :

1. # Indian fencer, CA Kalyani Devi

2. # Indian fencer, CA Katyayni Devi

3. % Indian fencer, CA Bharati Devi

4. % Indian fencer, CA Bhavani Devi

Question Number : 18 Question Id : 630680280254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS &8)ES, 815 DAYOR TFODANSANS' erESTFTIE BN S0IE DSBS FPEOTIB0 T 0° T8 (&°eh 8
VT 0N QOO DI0?

Options :

1. % 33865 03830, CA §9563 T

2. % 23888 X8, CA 5500 TR

3. % 225 DS, CA 2rEe T

4. ¥ 23565 8B, CA B B

Question Number : 19 Question Id : 630680280255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Fit India Movement was launched on:
Options :

1. % 20t August 2021

2. % 29t Aygust 2022

3. ¢ 29 August 2019

4. % 29t August 2020

Question Number : 19 Question Id : 630680280255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DE OGO €550 (Fit India Movement) (oS0 050G E:
Options :

1. % 29 e85y 2021

2. % 29 e3i5Y 2022

3.9 29 &30Sy 2019

4. % 29 e85 2020

Question Number : 20 Question Id : 630680280256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The postponed 19™ edition of Asian Games will be held in Hangzhou, China from:
Options :

1. % 23 September to 8 November in 2023

2. % 23 August to 8 October in 2023

3. ¥ 23 September to 8 October in 2023

4. # 23 August to 8 November in 2023

Question Number : 20 Question Id : 630680280256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PO HAS VAT 186 19 & DANS TS 330N’ 238H0I) BE :
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Options :
1. % 20235°Q R0 23 D0 55025 8 SB%
2. % 20236°Q @35 23 0BG T § HSH
3. ¢ 20235°Q 205 23 0 9§26 8 SEH
4. % 20235° 1Y 23 DHOG 550205 8 HSHL

Question Number : 21 Question Id : 630680280257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who appointed Olympic Gold medalist Neeraj Chopra as the ‘Friendship Ambassador’?
Options :

1. % Malaysia Tourism

2. ¥ Switzerland Tourism

3. # Tokyo Tourism

4. # Philiippine Tourism

Question Number : 21 Question Id : 630680280257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2O0DT DY DebE DZed DB2S S P (DOBND ©902370¢$D (Friendship Ambassador)’ TP eSS0 QODDOTIE0?
Options :

1. % SN0 eard230 (Malaysia Tourism)

2. ¥ 250°0&% 8230 (Switzerland Tourism)

3. % ¢85 earB230 (Tokyo Tourism)

4, & z‘b@‘i’)gé ¢°8230 (Philiippine Tourism)

Question Number : 22 Question Id : 630680280258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an example of a non-renewable resource?
Options :

1. % Vegetation

2.+ Coal and Minerals

3. # Solar Energy

4. # Wind Energy

Question Number : 22 Question Id : 630680280258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1Bo& 365 ST )EE 53K 5 Q8 BT DE?
Options :

1. % 598 0D

2. ¢ STH B0 2w

3. % 8 38

4. % 55 38

Question Number : 23 Question Id : 630680280259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which company took an initiative of ‘News Initiative India Training Network’ in five new Indian languages?
Options :

1. ¥ Google

2. # Microsoft

3. % Meta

4. % Amazon

Question Number : 23 Question Id : 630680280259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

0 B 2rEB0%H 2 <S50 BINTNEIS ROROST [BIVOF FEH5)" D IFS0DOBETE DB @0BODS
E0D AO?

Options :

1. ¢ 530S

2. % JIEY

3. % ey

4. % 2P

Question Number : 24 Question Id : 630680280260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are CORRECT?

Statement I: Kolar in Katrnataka has deposits of gold in India.
Statement II: Kolar mines are among the deepest in the world which makes mining of this ore a very cheapest process.

Options :

1. # Statements I and II are incorrect.

2. % Statements I and II are correct.

3. # Statement I is incorrect and Statement II is Correct.

4. % Statement I is correct and Statement II is incorrect.

Question Number : 24 Question Id : 630680280260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& 1DEEIS(@)S’ AB/DD DBIN?

DES I: 2S3STF0S” 20mE0 DF aren STLES' FerdeS ) ow.

(DEES II: B B0 (HNOIOS'S 6505 SBIN, A S & PP €59 ¢80 Trer B (DEAD.
Options :

1. % (D850 T B IT OB A 5°0)

2. % 1088 08 IT OB

3% DEOS T OBIO ¢ SO (HES 1T SBIA

4. 9% (DS TIBIE DA (DEES I OBIE 52N

Question Number : 25 Question Id : 630680280261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are CORRECT?

Statement I: Reliance Jio partnered with some of the world’s leading technology giants such as Meta, Google, Microsoft and Intel to roll
out 5G services in key metro cities of India.
Statement II: Jio has collaborated with Google to develop ultra- affordable 5G smartphones.

Options :

1. ¢ Statements I and II are correct.
2. % Statements I and II are incorrect.
3. # Statement I is correct.

4. % Statement II is correct.

Question Number : 25 Question Id : 630680280261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& 1DZEIS(@)SS’ AB/DD HBIN?

DES Ik 2rESTIOS' EET DIE’ SHOPS' 56 D508 ©0BOBTAE BOOHNS)) BT (DD0IOS D (D50
POTAE BB e, (rth S, BIERP HBAN BOBWS $H0¢3 T DOPOS arHR$3575). oG YE0R.
DEES IT: @& SIS 5G RS @NNHE TOHERE BT HrH S EOVOA.

Options :

IR PO ANIOVE INVe VW R I NS INTS

2. % D88 T 0O IT OB 5
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3. % (D8O TIBIS
4. % (DEOS T OBIS

Question Number : 26 Question Id : 630680280262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a component of the cell plasma membrane?
Options :

1. % Phospholipids

2. # Proteins

3. ¥ Cholesterol

4. ¥ Microfilaments

Question Number : 26 Question Id : 630680280262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 e3¢5’ 869 T FEES’ 230 A DE?
Options :

1. % YO (Phospholipids)

2. % (&r¢3 (Proteins)

3. % §£SJ°O (Cholesterol)

4. ¢ IFDOR0E ) (Microfilaments)

Question Number : 27 Question Id : 630680280263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The term Ecology was coined by:
Options :

1. % Henry Chandler Cowles

2. % John Muir

3. ¥ Ernst Haeckel

4. % Carl Linnaeus

Question Number : 27 Question Id : 630680280263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D28 (ecology) @R D) WOAODGTE
Options :

1. % 37 ©°08%8 §°S ) (Henry Chandler Cowles)
2. % 23S 300D (John Muir)

3. ¢ QB ® 2SO (Ernst Haeckel)

4. % 520 OT) 0N (Carl Linnaeus)

Question Number : 28 Question Id : 630680280264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Night blindness is caused due to deficiency of:
Options :

1. # Vitamin K

2. # Vitamin E

3. # Vitamin C

4. % Vitamin A

Question Number : 28 Question Id : 630680280264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOEE B S0 HO EeHSB0:
Options :
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1. % DM K
2. % DOMS E
3. % QO C
4. QAN A

Question Number : 29 Question Id : 630680280265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year and by whom the double-helical structure of DNA was discovered?
Options :

1. % 1953 and Watson and Francis Crick

2. # 1955 and Mendel

3. # 1955 and Anton Van Leeuwenhoek

4. % 1953 and Frederick Sanger

Question Number : 29 Question Id : 630680280265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DNA 3B0E), 5505 5- 3OS Qo7 2 D055 B0 sDBO50 eI Sy Bo?
Options :

1. % 1953 DBAW 7N NDBAW (P ) (85 (Watson and Francis Crick)

2. % 1955 08050 0TS (Mendel)

3. % 1955 08050 @0&'S 7S OIS eeE (Anton Van Leeuwenhoek)

4. % 1953 0805 (¢4O8 oS0 (Frederick Sanger)

Question Number : 30 Question Id : 630680280266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pair from the following.
Options :

1. # Baking Soda — NA,CO;

2. ¥ Vinegar — CH;COOH

3. ¥ Washing Soda — NAHCO;

4. % Carbonic Acid - H,CO,

Question Number : 30 Question Id : 630680280266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BoATES’ OB 235 JOTHEOA.
Options :

1. % 23800 e — NA,CO;

2. ¢ 30150 - CH;COOH

3. % 5000 &P - NAHCO,

4. % 52818 OS°d& - HyCO,

Question Number : 31 Question Id : 630680280267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pair from the following.
Options :

1. % Reptilia — Pigeon, Parrot

2. % Mammalia — Camel, Elephant

3. % Aves — Alligator, Chameleon

4. % Amphibia — Dog fish, Pristis

Question Number : 31 Question Id : 630680280267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
B0 e3¢5 OB 285 JOTHE0A.
Options :
1. % 58090 Gadm — ey B30, Dend
2. ¥ 800 2306802578 — 2,0, e
3. % H8 25 - I, &IOS
4. % &BAHBBE30 — §oF) T, DIV

Question Number : 32 Question Id : 630680280268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Which Earthquake Zone, Ladakh, Himachal Pradesh, Northern parts of Punjab and Delhi does fall?
Options :

1. ¥ Very high damage risk zone

2. ¥ High damage risk zone

3. % Moderate damage risk zone

4. % Low damage risk zone

Question Number : 32 Question Id : 630680280268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%2, SPSTIS (HTBF, HoTS SR SSS rozre HOOM GO O HrEod EErers8 SAow?
Options :

1. % ey @08 IR0 EOROT (D8 3 (b0

2. ¥ 5% 300 EOROT 1D (5o

3. % HASIT(S0MT S0 EOROT (D3 3 (o

4. % 35035 320 EOROT (DX B (¢b0

Question Number : 33 Question Id : 630680280269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following states sometimes receives floods during November — January due to the retreating monsoon?
Options :

1. ¥ Bihar

2. % West Bengal

3. % Tamil Nadu

4. # Orissa

Question Number : 33 Question Id : 630680280269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BO& e3¢5 BB NS 200505 85 965025-23398€ s¢95 QLD S5E5e HOZINOT TR0 IE?
Options :

1. % 956

2. % 533 230

3. ¥ ST

4. % 2,Qr

Question Number : 34 Question Id : 630680280270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are the mitigation strategies of earthquake?

1. Estabilishing earthquake monitoring centres.

2. Preparing a vulnerability map of the country.

3. Ask people to leave the place at the time of disaster.

4. Educating the people about the ways and means minimizing the adverse impacts of disasters.
5. Modifying the house types and building designs in the vulnerable areas.
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Options :
1. % 1,2,3and 4
2. % 2 3 4and 5
3.% 3.4, 5and 1
4. 1,2, 4and 5

Question Number : 34 Question Id : 630680280270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LBO& 18IS’ 2578000 TBNE), ErdFoNS Je8s3Fen ?

1. 25800 DBSIE.£9 OO DT)EN TBANCHO.

2. B30 550 EOT [3romred S350 D0 TAHEO.

3. DHEY OO’ €8 Derd) SAO IEHA (Heseradd §E 0.

4. DHO (DBITO (D2 HROT ST sNBAN ST HB0D) (D23E XIS EOH0dO0.
5. 5% 8O0 (romrS 9% 357 S8 AT7ed IO DSB0TIB0

Options :

1. % 1,2,3 0805 4

2. % 2,3,4:0800 5

3. % 34,5080 1

4.9 1,2,4 0800 5

Question Number : 35 Question Id : 630680280271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are the mitigation strategies of landslides?

1. Construction of dams and roads.

2. It is advisable to adopt area-specific measures to deal with it.

3. Limiting agriculture to valleys and areas with moderate slopes.

4. Terrace farming should be discourgaged.

5. Control on the development of large settlements in the high vulnerability zones.
6. Promoting large-scale deforestation.

Options :

1. % 2,4and 6
2. % 1,2and 5
3.% |,4and 6
4.2 3and 5

Question Number : 35 Question Id : 630680280271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 ¢3S §0ch THBAHEN DBANCEEFR), ErdFoNd oF5F e aES?

1. &838&exn 08050 B dT=60.

2. %) V0T NIETAE (0T s tIB5 eIB0TIH0 HOD.

3. S5O, €°ONEN BTN A ST(HFS e EFORS (o HBWEHO TANO.
4. G DT ATRY, (876 Yar0dTC.

5. 9O (DAPN0 NDOZINOT N0 €d) (FoTOS” DY FHT°e 9D JaHO|he.
6. DX DS €961 DB (86b )ar0dS0.

Options :

1. % 2,40005%6

2. % 1,2.0805% 5

3.% 1,4 0080w 6

4.9 2308055

Question Number : 36 Question Id : 630680280272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are CORRECT?
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Statement I: Seismographs detect ground vibrations to determine an earthquake's magnitude.
Statement II: Richter scale measures the intensity of earthquake’s effect on people, structure and the earth’s surface on scale from I to
XII.

Options :

1. # Statements I and II are correct.
2. % Statements I and II are incorrect.
3. % Statement I is correct.

4. % Statement II is correct.

Question Number : 36 Question Id : 630680280272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& (DEES(@)E DA/ HBSD?

(DEE6S I: 257500 HOSTETR), ATBOITE 257 E0NT™ O 30NN D (TH-e.

DEES IT: (52362, DT2E0 OO0 25N TNEY, ErIBHE0D) 25TE0D (227790 TINEY, (e3¢5dd 858 DS 10B
XIT $E80 TR0,

Options :

1. % (D830 T DB IT OB

2. % (D850 108A5W I OBID 5°69)

3.7 (DS TIBIE

4. % (DEOS T OBIS

Question Number : 37 Question Id : 630680280273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Global Warming leads to in the average temperature of the Earth’s atmosphere.
Options :

1. # Gradually slow

2. % Gradually increasing

3. # Gradually decreasing

4. # Gradually diminishing

Question Number : 37 Question Id : 630680280273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BFTNO0 25T FTSBEI0 TBNEY OHED SIS 5 BBQOE.
Options :

1. % B0 S02H0He

2. % (E00m e

3. % (o e$iHey

4. % 8o g 300y

Question Number : 38 Question Id : 630680280274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the group of Green House Gases (GHG)?
Options :

1. % Tropospheric Ozone, Methane, Nitrous Oxide
2. % Carbon Dioxide, Ammonia, Lead

3. ¥ Chlorofluorocarbons, Halons, Aerosols

4. % Methanol, CFCs, Methane

Question Number : 38 Question Id : 630680280274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BAS TR0 3°A806Y© (GHG) DT dOTHEOER.
Options :
1. ¥ ([S'F0)05 48, DTS, J D es3)&
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2. % 5518 B$ArB)E, ST, DO
3. % §EFTE)S), FSSY, IEFS)
4. % S, CFCOD, MBS

Question Number : 39 Question Id : 630680280275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are agro-chemicals?

1. Scrap

2. Insecticides
3. Herbicides

4. Plastics

5. Fungicides
6. Sludge

7. Pesticides

Options :

1. % 2,3, 4and 5
2.% 1,4,5and 6
3.9 2,3 5and 7
4. % 1,3,6and 7

Question Number : 39 Question Id : 630680280275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOATEIS’ H53A STORTED D?

1. €980

2. (8005 Ezen
3. ) DOIFEeD
4.8

5. 3D 0SS IseeN

6. 20086

7. QBN DOCHEN
Options :

1. % 23,4080 5
2. % 1,4,500603506
3.92,3, 508050 7
4. % 1,3,600805% 7

Question Number : 40 Question Id : 630680280276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true about Deforestation?

1. Deforestation increases the temperature and pollution level on the Earth.
2. It decreases the level of carbon dioxide in the atmosphere.

3. It increases the chances of natural calamities such as floods and droughts.
4. Tt disturbs the balance in nature.

5. It leads to an increase in the water holding capacity in the soil.

Options :

1. % 1,3and 5
2. % 2 4and5
3. % 1,2and 3
4. % 1,3and 4

Question Number : 40 Question Id : 630680280276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BO& 1DELSOES’ @18 BT HODOA0D) DY Debs0?

1. @€38) QB3 251165 0B8N STENDE FON DOTHE0E.
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2. 30 IS0 58S SOSTEIE FoN SHNOA.

3. 96 SBEN OGN EKY H0¢3 (D& INBT5eN DOZNOT 93573 DOTNOA.
4,36 |HEIB HDSBBE0 250090 EORNOS.

5. 28 IO EOAHOT De3 BwE) 0TS0 DEHEOE T8 SQNOE.

Options :

1. % 1,3 0005

2. % 2408055

3. % 1,2 508050 3

4.% 1,3 0005 4

Question Number : 41 Question Id : 630680280277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the formula of Ozone?
Options :

1. % Oy

2.4 0,

3. % 0y

4. % 05

Question Number : 41 Question Id : 630680280277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
58S T30E) D B0eT DES?
Options :

1. # Oy

2.% 04

3. % 0y

4. % Os

Question Number : 42 Question Id : 630680280278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The strong, gusty, hot dry winds blowing in the northen plains in summers is known as:
Options :

1. # Jet Streams

2. % Trade Winds

3. % Loo

4. ® Kaal Baisakhi

Question Number : 42 Question Id : 630680280278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

SIS &S DTS DT DO, SN, BB FQ MENOK JE® DENTED:
Options :

1. % 3 1Dt

2. % 5235 Dadaren

3.¢¥ oy

4. % S B

Question Number : 43 Question Id : 630680280279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following does not contribute to the natural soil formation?
Options :
1. # Plants
2. ¥ Polythene bags
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 17/63



31/07/2023, 18:06 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

3. % Water

4. ® Minerals

Question Number : 43 Question Id : 630680280279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BO& e3¢5’ (D89 VYO T B0 SIS DE?
Options :

1. % Jyen

2. % IO Sothen

3. % J%

4. % 23 ©deTeN

Question Number : 44 Question Id : 630680280280 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rivers in their lower course split into numerous channels due to the deposition of silt. These channels are known as:
Options :

1. ® Tributaries

2. ¥ Distributaries

3. ® Arbitraries

4. ® Waterfall

Question Number : 44 Question Id : 630680280280 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

2,088 3.9 SO SE0EN AKIS 23750 OTE SPENSENTT DO, &2 SN REF eV X!
Options :

1. % &SN

2. % Penden

3. % QT PaTEDEN

4. % BOJ°S0

Question Number : 45 Question Id : 630680280281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct about Tropical Evergreen Forests?

Statement I: These forests are restricted to heavy rainfall areas of the western Ghats and the islands groups of Lakshadweep, Andaman,
and Nicobar, upper parts of Assam, and Tamil Nadu coast.

Statement II: They are at their best in areas having more than 200 cm of rainfall with a short dry season.

Statement I1I: The trees, shrubs and creepers give it a multilayered structure.

Statement I'V: These forests never appear green all the year round.

Options :

1. # Statements I, Il and IV are correct.
2. # Statements I and II are incorrect.
3. % Statements I, II and III are correct.

4. # Statements Il and IV are correct.

Question Number : 45 Question Id : 630680280281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 365 BRDOGBO Db TBS @EETse HBOD DTS (HEEIS DE?

(IEEIS I: B @590 DY E0aEN OGN OE.A LD, OBXTS HOAN AE 2D & L Hersr’ex, )0
SOBOR SNFTE B0 VDS (PoTOS' 278 SCFH0 [FOTOE HBWEBO TONDFOW.
DEES II: 80265 TG SO’ 200 cm © EOT DB SOFHO0 &), (OB B DSNVOTP EOETON.
(DEES IHI: TTEY, e SHOASN i B8 TVFTT oW JTETQ) OB ON.
DEEIS TV: S8 €989 DTTE YT ) JET DI EIN0TIY.
Options :
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1. % (D8I I, IT 83 IV €0 OB

2. % (DEIE T 08 IT e OB 57
3. % (D8O T, TT DB A8W T 0 OB

4. % (DHEEIN T DO TV &0 OB

Question Number : 46 Question Id : 630680280282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The part of the Himalayas lying between Satluj and kali rivers is known as:
Options :

1. # Kashmir Himalayas

2. % Kumaon Himalayas

3. # Nepal Himalayas

4. # Sikkim Himalayas

Question Number : 46 Question Id : 630680280282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

56225 00050 57 S50 KIS HOd SFIFOOT 2T WET DEVTE:
Options :

1. % 595 SrSrerasren

2. % 3030 e A8TeN

3. % JJO lSTre>ASTen

4. % 28).0 PArOAITEN

Question Number : 47 Question Id : 630680280283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following forests in Group I with the trees in Group II. Select the correct combination.

Group I Group II
P. Mangroove i. Palm, coconut, keora
Q. Tropical Evergreen ii. Mahogany, ebony, rubber
R. Tropical Dediduous iii. Sal, Teak, Bamboo
S. Montane iv. Spruce, Junipers, Pines
Options :

1. % P —iii, Q —ii, R —iv, S - i
2.9 P—1i,Q—ii, R—iii, S-iv
3. % P—ii,Q—iii, R—iv, S - i
4. % P—ii,Q—1iv, R —iii, S - i

Question Number : 47 Question Id : 630680280283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Darro |62 eacanodd Do | 167D D6 aedoiod. HBD S00s

Dot ol
Qedraro | Daooesro | |
P. 206 (s30Foire) i .2, &230, SolrT
Q &HAV0CO DSBS PG | 1. DTN, DYV, TN
R. &R0t 80Ty |11 . J78, 650, Dedm
5. 208 (o) iv. ?o@fo 206y, Py
Options :
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1. % P—iii, Q—ii,R —iv, S —i
2.¥P—i,Q—ii, R —iii, S —iv
3. % P—ii, Q—iii, R —iv, S —1i
4. % P—ii, Q—iv, R —iii, S —1i

Question Number : 48 Question Id : 630680280284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion: The outer most range of the Himalayas is called Shiwaliks.

Reason: They extend over a width of 10-50 km and have an altitude varying between 900 and 1100 metres.
Options :

1. % Both A and R are true and R is the correct explanation of A

2.+ Both A and R are true and R is not the correct explanation of A.

3. % Both A and R are not true.

4. % A is true but R is not true.

Question Number : 48 Question Id : 630680280284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

QBYSTEAN (A) LDEAW SS90 (R) T QD003 (8O BOLD (DF0E) H0220H0D T QDT
DoTHTOR.

D2)BT°E $0 (A): P3O AINEY €9e550eh 23°8 (B3 B3O8 ) €0 DT K.

52890 (R): @ 10-50 km © F¢H0)5 DO GOEFON DB €8 900 S0B030 1100 IS 085S G0N0,
Options :

1. % A 08050 R BOKT 6550 OO R 9 A BwEY DB DSBea.

2. % A DBOW R BOCE® 0ed50 SOOI A A30EY OB DadBE R 5°C0.

3. % A B8O R BOCK® Oedbg0o 5°¢.

4. % A D550 P R Ded50 5°¢0

Question Number : 49 Question Id : 630680280285 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which articles lies in the Directive Principles of State Policy?
Options :

1. % Article 5 to 11

2. % Article 12 to 35

3.+ Article 36 to 51

4. % Article 52 to 151

Question Number : 49 Question Id : 630680280285 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 T3S TR DTS ABIE Iyl@ren K> e9OESeTe) ID?
Options :

1. % &880 5 O 11 SBB

2. % Q830 12 QN0 35 SBX

3. ¢ @©OEB0 36 MO 51 SB5

4. % Q8390 52 NHOG 151 SSBL

Question Number : 50 Question Id : 630680280286 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many fundamental rights have been provided by the constitution?
Options :

1. # Three
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2. ® Five
3. ¥ Six

4. ® Seven

Question Number : 50 Question Id : 630680280286 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0°23°S0050 A, [PHNE F2E02 § YN0 E?
Options :

1. % e

2. % 0

3.9 s

4. %

Question Number : 51 Question Id : 630680280287 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which committee recommended the inclusion of fundamental duties in the Indian Constitution?
Options :

1. # Justice Verma Committee

2. ¥ Sardar Swarn Singh Committee

3. # Sunil Mehta Committee

4. #® Yashpal Committee

Question Number : 51 Question Id : 630680280287 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 0725080 [BPRNE DENDD TTPIO DS TS E0¢3 AH?
Options :

1. % 230 58 $0es

2. ¢ 35 558 oh el

3. % S e ¢

4. % 0Hr)S $ed

Question Number : 52 Question Id : 630680280288 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Citizenship Act of 1955, specifies various methods for renouncing citizenship acquired under the act or previously under the
constitution. Which of the following are modes of renouncing citizenship?

1. By Renunciation

2. By Termination

3. By Deprivation

4. By incorporation of territory
Options :

1. % 1,2and 4

2. % 2 only

3. # 3 and 4 only

4.9 1,2and 3

Question Number : 52 Question Id : 630680280288 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS ¢ IO 1955 T HE0 BT NI T°2FS0H0 803 FOAS BT ) FSHSTIE DA DA
QBZN0A. (80B ¢3S rEIee s, 8765 1T D3/ DE/D?

1. QB0 @ sT°

2. 88 o so°

3. 6§§6€9 o> 50°

4. 372350 DO T so°
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Options :
1. % 1,2 0005 4
2. % 2 XS
3. % 3 08050 4 0 S(eded
4. ¢ 1,2 00050 3

Question Number : 53 Question Id : 630680280289 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pair from the following.
Options :

1. ¥ Article 51 A — Fundamental Duties
2. % Article 152 to 237 — The Union

3. % Article 239 to 242 — The States

4. # Article 1 to 2 — Citizenship

Question Number : 53 Question Id : 630680280289 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 e3¢ OB 235 JOTHE0A.
Options :

1. ¥ @880 51 A — GPAE DEoen

2. % @9HEB0 152 O 237 BBy — 300
3. % Q850 239 O 242 — T°a e

4. % 98B0 1 DO 2 HBB0 — DEOES S0

Question Number : 54 Question Id : 630680280290 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following fundamental with rights in Group I with the Group II. Select the correct combination.

Group -1 Group - II

P. Article 15 i. Right to Education

Q. Article 17 ii. Prohibition of discrimination on grounds of religion, race, caste, sex or place of birth

R. Article 21 iii. Abolition of untouchability

S. Article 21 A | iv. Protection of life and personal liberty

Options :

1. % P—iii, Q—ii, R—iv, S -i
2. % P—iv,Q—ii, R —iii, S -i
3. P—ii,Q—iii, R—iv, S - i
4, % P—ii,Q—iv, R —iii, S-i

Question Number : 54 Question Id : 630680280290 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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RaurEre 165°0 PEDS Drey o daarre Il orOE abosd. KT VoS JoEod.

Raorro - | Do - I
P. essttao 156 i DEFg PS8,
Q. esdsoeso 17 ii. 2o, 2, Sovo, Dofio TI@ LDHD VBT BLPOONP JDED DADOTCo
R. eadhsidieso 21 iii. esotdTr D50 AT 0D
S.e8s6m0 21 A | iv. D60 0B B8 DSy CLee

Options :

1. % P—iii, Q —ii, R —iv, S —1i
2. % P—iv,Q—ii, R —iii, S —i
3. P —ii, Q—iii, R—iv, S — i
4. % P—ii,Q—iv, R —iii, S—1i

Question Number : 55 Question Id : 630680280291 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who elected the Indian President?

Options :

1. # The Council of Ministers

2. ¥ The elected MLAs and MPS

3. # People

4. # The prime minister and Chief Justice of India

Question Number : 55 Question Id : 630680280291 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

275 T ADBD DB D82 Eo0erS?

Options :

1. % 0|8 Hocsd®

2. % D)3 MLACY SOOI MP X

3. % Do

4. % (D003 DBAW 2SS (DTS T°5A00°8

Question Number : 56 Question Id : 630680280292 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who said, “Democracy is the Government of the people, by the people and for the people”?
Options :

1. # B.R. Ambedkar

2.+ Abraham Lincoln

3. % Mahatma Gandhi

4. # Jawahar Lal Nehru

Question Number : 56 Question Id : 630680280292 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"2 L0F0 ORE (23> TBNEY, (DB Teh DO (D23 FBEL (2065 50" € eI W )B0?
Options :

1. % Desd 023655
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2. ¥ 20570 DOES
3. % 50 rod
4. % 2350 S J v

Question Number : 57 Question Id : 630680280293 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Parliament of India consists of:

1. The President
2. The Lok Sabha
3. The Rajya Sabha

Options :

1. % 1 only

2. % 1 and 3 only
3. # 3 and 2 only
4.9 1,2and 3

Question Number : 57 Question Id : 630680280293 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28¢5 POR0EN DEI/DO EOB &0NOd:

1. O°(ded

2. S8 &2

3. 07235023

Options :

1. % 1 S(ehadd

2. % 1 08050 30 557 add
3. % 3 08050 2 O S
4.9 1,2 0005 3

Question Number : 58 Question Id : 630680280294 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following States has/have bicameral legislature?

1. Andhra Pradesh
2. Bihar

3. Jharkhand

4. Maharashtra

5. Telangana

6. Uttar Pradesh

Options :

1. # 1 only

2. % 1,2and 3
3. % 3and 4

4.4 1,2,4,5and 6

Question Number : 58 Question Id : 630680280294 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1B0B TaTOS” DB/ 52505 2528 SO ey on?

1. 8OJOT3
2. 956

3. 2006

4. 0507
5. SO

6. GSBNTT
Options :
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IR NV YN
2. % 11,2000 3
3. % 30080 4
4.4 1,2,4,5 0005 6

Question Number : 59 Question Id : 630680280295 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The highest and top judicial structure of India is:
Options :

1. % Chief Minster

2. % Supreme Court

3. # Parliament

4. % Union Cabinet

Question Number : 59 Question Id : 630680280295 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTIOS' €965505) 5 SHBASN EOSTA OS5I
Options :

1. % S0soled

2. ¢ 020 D

3. % >O00oeN

4. % 30o(& So@NGo

Question Number : 60 Question Id : 630680280296 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct?

Statement I: The political executive is responsible for day-to-day administration, while the permanent executive is responsible for
government policy.

Statement II: The political executive is responsible for government policy, while the permanent executive is responsible for day-to-day
administration.

Options :

1. % Statements I and II are correct.
2. % Statements I and II are incorrect.
3. ® Statement I is correct.

4. ¥ Statement II is correct.

Question Number : 60 Question Id : 630680280296 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& (DEES(@)E DA/ HBSD?

(DEES I: T°2380% ST LT B2 8 HDOTEIIEL 23°¢I5eh ISTFRTCR ST, F°% S5 5268 AT aTE0CE (2925065 §
AT 23°C 585 3T CH.

(DEES IT: 523805 5B 5T STEI (2925065 § DT 23°CI5eH T STP, B3 S5 SBT3 Eocdd Farard
DOT L 23755 ST,

Options :

1. % 08050 II 08050 OB S

2. % 108080 IT 08000 OB ) 5°a)

3. % (D8O TITIS

4. % (DEOS T OTIS

Question Number : 61 Question Id : 630680280297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Through which act, Panchayati Raj was constitutionalized?
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Options :
1. % 70™ Constitutional Amendment Act of 1992
2. # 75t Constitutional Amendment Act of 1992
3.+ 73 Constitutional Amendment Act of 1992
4. % 721 Constitutional Amendment Act of 1992

Question Number : 61 Question Id : 630680280297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D BEO T ST°, DOTTONE TS Tes080S” TS )B0E?
Options :

1. % 708 o°a3s00 0388 <580, 1992

2. % 75 5 072508 058 WDEO, 1992

3. % 73 S Oee 500 Q988 W90, 1992

4. % 72 S 0508 0S8 WDEO, 1992

Question Number : 62 Question Id : 630680280298 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The term of each Panchayat body is:
Options :

1. ¥ Five Years

2. % Seven Years

3. ® Ten Years

4. % Three Years

Question Number : 62 Question Id : 630680280298 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 HOTTOHE 2B TINE), HAD S0
Options :

1. % 2060 D0Sed YTren

2. % ek Doded yoren

3. % DO 0Sed yoren

4. % 20 Q0Sedyoren

Question Number : 63 Question Id : 630680280299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrect pair from the following.
Options :

1. # Gram Panchayat — village or group of villages
2.+ District Panchayat — Urban area of the district
3. # Intermediary Level — Block or Taluka

4. # Zila Panchayat — Rural area of the district

Question Number : 63 Question Id : 630680280299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 73S’ DO 235 JOTHEOH.

Options :

1. % [P0 HOTTONE — [ToD0 BT TS DeusF0
2. ¥ B HOTFON — BEFS HEED [FOHO

3. % 2050 JPow — 5 B s

4. % 86 HOTPONE — BUES (PN [0S0

Question Number : 64 Question Id : 630680280300 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who founded the Young Bengal Movement between 1826 and 1831?
Options :
1. ¥ Henry Louis Vivian Derozio
2. % Raja Rammohan Roy
3. ¥ Dayanand Saraswati
4. # Gopal Krishna Gokhale

Question Number : 64 Question Id : 630680280300 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1826 0805 1831 © 38 5°06S" OHON BOTPS €¢I 5650 FIZVEN adB0?
Options :

1. ¢ 37 ron ANOHS BE R

2. % O OPR05° TPOD

3. % 50808 B 53

4. % e §ya e

Question Number : 65 Question Id : 630680280301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In context of the Indian nationalism and early workers’ activities, in which year the Social Service League was formed?
Options :

1. % 1909

2. %1910

3.9 1911

4. % 1912

Question Number : 65 Question Id : 630680280301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

255 2730565 BN €8 585357 ST HOCIBIOE’, Fe2BE WS D00 FDOTIDES HD0HS5IB0 IE ?
Options :

1. ¥ 1909

2. %1910

3.9 1911

4. % 1912

Question Number : 66 Question Id : 630680280302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the founder of National Herald (daily) published in the year 1938?
Options :

1. ¥ B.R. Ambedkar

2. % Madan Mohan Malviya

3. ¥ Jawahar Lal Nehru

4. # S Radhakrishnan

Question Number : 66 Question Id : 630680280302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
193865° (HTNB0IRES FASS FT°D (BoND) 555TDE0EN DIS?
Options :
1. % Desb e0023¢5).6
2. % A IS red§
3. ¢ 2335570 erd Jv°
4. % QD 089
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Question Number : 67 Question Id : 630680280303 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which act is also known as the ‘Black Act’?
Options :

1. # The Charter Act

2. % The Rowlatt Act

3. # The Trade Disutes Act

4. % Indian Councils Act

Question Number : 67 Question Id : 630680280303 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& HEFQ) '35 O @0 S DeT°R?

Options :

1. % 280 S&o0

2. ¥ T8 Hd&o

3. % 5763235 D &0

4. % 08008 TS 5§ (23°8¢h 00 w3¢)0)

Question Number : 68 Question Id : 630680280304 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the founder of Satya Shodhak Sama;j?
Options :

1. ¥ Mukundrao Patil

2. # Shri. Narayan Guru

3. # V.R. Shinde

4. % Jyotiba Phule

Question Number : 68 Question Id : 630680280304 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D5 3T D3350 DBV DIE0?
Options :

1. % J0800HT%Y ¢3S

2. % (3 5°0°0%0Ed HS

3. % Desb 0T

4. ¥ 58> S

Question Number : 69 Question Id : 630680280305 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following paper/journal is incorrectly matched with their year of publication?
Options :

1. # The Hindustan Times - 1920

2. ¥ National Herald - 1940

3. # Tribune - 1881

4. % Bengal Gazette - 1818

Question Number : 69 Question Id : 630680280305 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BoATES’ & J(BE/2351S 0 |HTNEOTIDES D055 YISO 53 YT 23500V GOE?
Options :
1. % & T3P0 Boew) - 1920
2. ¢ IASS 3ro°D - 1940
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3. % |¢3a7°8s - 1881
4. % 2301 Te3ES - 1818

Question Number : 70 Question Id : 630680280306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in a chronological order.

1. First War of Indian Independence
2. Partition of India

3. Formation of Muslim League

4. Civil Disobedience Movement

5. Non Co-operation Movement

Options :

1. % 1,2,4,3,5
2.¥1,3,5,4,2
3.%1,2,3,4,5
4. % 1,3,2,4,5

Question Number : 70 Question Id : 630680280306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BoA S0NEIDON O (ESP DT SOMT €908 )0db.

1. 305¢E3 2378 6d °§50B S eSO
2. 23°5HT3¥ s

3. 500 OF doeyen

4. FROSDONS &e9500

5. O3FADH QUEBES 500

Options :

1. % 1,2,4,3,5

2.¥1,3,5,4,2

3.%1,2,3,4,5

4. % 1,3,2,4,5

Question Number : 71 Question Id : 630680280307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which river valleys demarcated the Assam Himalayas?
Options :

1. # The part lying between Indus and Satluj rivers.

2. # The part lying between Satluj and Kali rivers.

3. # The part lying between Kali and Teesta rivers.
4.+ The part lying between Teesta and Dihang rivers.

Question Number : 71 Question Id : 630680280307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q 3B SAHEN YO SFATOOITEED DB IBEITON?
Options :

1. % 060 08AM D& DO NS &) 2o

2. % 0828 HOAW 5@ SO NS &Y 2rio

3. % 529 DO SR SN NS &S ert0

4. ¢ S OO OF0R S S Eed) 2o

Question Number : 72 Question Id : 630680280308 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
For how many years members of Rajya Sabha are elected?
Options :
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1. # A term of four years
2. % A term of five years
3. % A term of six years

4. % A term of seven years

Question Number : 72 Question Id : 630680280308 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

023525 2050 Q) DO0NBIT°® FEE dedd) §arcdes?
Options :

1. % TPe) D0 YT HDANST0

2. % 060 D05 )0° HANF0

3. ¢ &5 D0N$IT® JANSO

4. % D 0N YT HADSDO

Question Number : 73 Question Id : 630680280309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who started a daily English- language newspaper The Tribune in Lahore?
Options :

1. # Madan Mohan Malviya

2. % V.R. Shinde

3. ¥ Sardar Dyal Singh Majithia

4. % H. L.V Derozio

Question Number : 73 Question Id : 630680280309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS Berard e0-27al TS, & (327758 DS (FPB0EOTE?
Options :

N VAN IS VRSN IRV INY

2. % Jesb DoT

3. ¥ HTE SATS DOR SHBBOST

4. % HLV BER3>

Question Number : 74 Question Id : 630680280310 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana state budget for the 2023-24 financial year has launched ‘Dalit Bandhu’ scheme. Which of the following statement(s) is/are
correct about this scheme?

i) It extends %20 lakh as financial assistance to each Dalit family.
i1) The Government has included ST families in this scheme.
i) The Budget has set aside 317,700 crore for the implementation of this scheme.

Options :

1. # i, ii and iii

2. # Only ii and iii
3. % Only iii

4. % Only i and iii

Question Number : 74 Question Id : 630680280310 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2023-24 0% 50565078 B0TPed TR DBE 9D 22060 @R HHFY, (FS0DODNO. 1808 (HELIES' &3
DH5AE H0220HO0R) DTS/ DE/D?

i) A (D3 Db F0e002378 898 HIFOHOM 220 ©F & HTFPAT), WOBNOA.
ii) (55265 50 &e HERSE0ES’ ABBS (ST) H0e02red S TT=)E.
iiii) &2 HDAE0 @neN §H0 217,700 L 3¢ TEranoDO.
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Options :
1. % i, ii 0803w iii
2. % i 0005 iii @0 S3°(¢hadd
3. ¢ i S°(hadd
4. % i 08050 iii €0 S(hadd

Question Number : 75 Question Id : 630680280311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following startups became the first unicorn startup to be headquartered in Hyderabad in January, 2022?
Options :

1. # Urban Kisan

2. # Grabon

3. % Nowflots

4.+ Darwinbox

Question Number : 75 Question Id : 630680280311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1Bo& T3S’ 3rNTerES (DG TS0 EOR 235558 2022 S SO AN FERT IEAD FED DE?
Options :

1. % e3)A 8 (Urban Kisan)

2. % |2 (Grabon)

3. % I ) (Nowflots)

4. ¥ 30 §0e>°8)) (Darwinbox)

Question Number : 76 Question Id : 630680280312 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the budget Amount in the Telangana Budget 2023-24 with the respective departments/sectors to which they have
been allocated.

Budget Amount Department/Sector Allocated To
A) 719,093 crore i) Medical and health
B) 226,885 crore ii) Education department
C) 31,426 crore iii) Irrigation sector
D) 12,161 crore iv) Panchayati Raj department
Options :

1. % A-ii, B-iii, C-iv, D-i
2. # A-ii, B-iv, C-i, D-iii
3. ¥ A-iii, B-iv, C-i, D-ii
4. % A-iv, B-iii, C-ii, D-i

Question Number : 76 Question Id : 630680280312 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
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DO 2GS 3023-24¢5°D 26 ij"m&@m 295) BETPOVOGIED 00O TPARL/COTPOUE 2GS0t

mgts ﬂ‘ané Seronoscd Tpen/dorren
A) 319,093 Een i) Dago oot esBrijo
B) 226,885 £ ii) Doy 72
C) ¥31,426 ¢ i) DedIrdee Gotio
D) ¥12,161 Eew iv) Hoerond ood T
Options :

1. ¥ A-ii, B-iii, C-iv, D-i
2. % A-ii, B-iv, C-i, D-iii
3. % A-iii, B-iv, C-i, D-ii
4. % A-iv, B-iii, C-ii, D-i

Question Number : 77 Question Id : 630680280313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana's per capita income grew to lakh from lakh during the period of June 2014 to June 2023.
Options :

1.¥%3.17,%1.24

2. % %4.27,33.24

3. % 32.24,1.17

4. % %3.90,32.27

Question Number : 77 Question Id : 630680280313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

237 2014 DO 237 2023 HBBY SO 5D e8P ON0 o8 Hod o8 0% DOR0A.
Options :

1. ¥%1.24,%3.17

2. % 33.24,34.27

3. % 31.17,32.24

4. % 32.27,33.90

Question Number : 78 Question Id : 630680280314 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the given statements is/are correct? (as per Telangana Socio Economic Outlook 2023)

Statement I: Between April 2021 to October 2022, under the skill development program, 718 colleges (Engineering/
Degree/MCA/MBA/Polytechnic) and close to 40,000 students registered with TASK(Telangana Academy for Skill and Knowledge).

Statement II: TASK (Telangana Academy for Skill and Knowledge) has collaborated with different partners like Google Cloud, Oracle,
Internshala, and Smartbridge in 2021-22.

Options :

1. % Only Statement I is correct
2. % Only Statement II is correct
3. % Both [ and II are correct

4. ® Neither I nor II is correct

Question Number : 78 Question Id : 630680280314 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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2D IS DSOS’ /DD DBED? (BOOMTED Frdre8s e30F TEVS 2023 |H°B0)

DES I: QDS 2021 0G 95205 2022 © DS BYETEDH59E SESE00 (80, 718 ST Fen (023800 &(fY/
MCA/MBA/ O T8) §) 08050 ¢35 ¢ 40,000 008 Ders&den TASK (S0Mes @5°¢hab H8 36 @08k o S8)
S’ S TRZOTY .

(DEEdeS 11: 2021-22 & K0S T, 2,.0°8S, R0EE) 770, 0050 78 (DG er0e3 DX, ariar s TASK
(80T ©5°¢a HO S ©0& *BE) TOOA.

Options :

1. % (DZS T S(ehad OBIAD

2. % (DB T X753 DB

3.9 T 08AW 1T e BOEP OB

4. % 1520 B 115°Q OO OB 5°¢0

Question Number : 79 Question Id : 630680280315 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the given statements is/are correct?

Statements:

A) The Telangana state government has proposed to undertake the development of three greenfield airports at Jakranpally (Nizamabad),
Palvancha (Bhadradri Kothagudem) and Mahabubnagar.

B) The Telangana state government has proposed to set up three brownfield airports at Mamnoor (Warangal), Basant Nagar (Peddapalli)
and Adilabad.

Options :

1. % Only A

2. % Only B

3. ¥ Both A and B
4. # Neither A nor B

Question Number : 79 Question Id : 630680280315 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ADIS (HEIOES” DB/ HBI?

DEerden:

/Lx) B35S0 (Ve5rerd), e $015 (BT SSHEPTO) 0O D72 BB 05¢ (ASHD Jedrar|Faire
@JYA THET O BOME) TR (25065 0 (DT OO,

B) 800 T°( &) 92565 50 s3anSTEd (S5803S), 20006 556 (DN B0 e3&ererEeS S 12500
DT F AT DT?)EN WASTO (DSBTEODOE.

Options :

1. % A S(eho

2. % B (&

3. % A N8O B e Bodckr

4. % A5 S B 5 D& 57D

Question Number : 80 Question Id : 630680280316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Panchayati Raj and Rural Development Department maintains 67,527 km of roads in the state.
Arrange the different types of road in increasing order (according to their percentage out of total km of road).

A : Black top road
B : Metalled Road
C : Cement concrete
D : Unmetalled

Options :

1. ¥ D,C,B, A
2. % A B,C,D
3.9C,B,A, D
4. % B, C,A,D
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Question Number : 80 Question Id : 630680280316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DOTTONBTE NI (PRETD X9 32 T RO 67,527 km © Fd BP0 d.

DN 52> FehHa BN, 180065 (N0 km © SO’ a3e3 e (H5S0) @03 ) DY), MHO0H0A.

128 e & (Black top road)

: S B (Metalled road)
DO S”OLgéQJ (Cement concrete)
: 980D (Unmetalled)

Options :

1. % D,C,B, A

2. % A,B,C,D

3.9C,B,A,D

4. % B,C,A,D

ocOQw»>

Question Number : 81 Question Id : 630680280317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Read the following and select the correct matched pair of ‘Award’ and ‘Winner Panchayat’:

‘Award’ — ‘Winner Panchayat’

A : Child-friendly Gram Panchayat Award 2022 (Appraisal Year 2020-21) - Chandapur Gram Panchayat, Wanaparthy District.
B : Gram Panchayat Development Plan Award 2022(Appraisal Year 2020-21) - Yerravalle Gram Panchayat, Siddipet District.
C : Nanaji Deshmukh Rashtriya Gaurav Gram Sabha Puraskar 2022 (Appraisal Year 2020-21) - Manthangod Gram Panchayat,
Narayanpet District

Options :

1. ¥ A and B only
2. % Band C only
3. ® Aand C only
4.% A, BandC

Question Number : 81 Question Id : 630680280317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
1B0& ¢8R IO, DO 285G 520G ‘@)’ OB TeNTNENS), DOTTONE’ 285 JOTNETOH :

‘@’ — THentHES) Do oHe’

A 2POO-578 [TTPe3) DOTTONE a3 2022 (2020-21 D05 ITE TP) — TIOIETIE (TP HOTTANES, 59D 3¢,
B : ([Po) HOTT00 @9 S59R DT DE 9537 (2020-21 D035 YT MPadd) — TGS (TP HDOTTONES, DEDIE) 28,
C: 28 THLD OO T8 [P D28 HEY S0 2022 (2020-21 D035 YT T) — SDODSE (Pe%d Zoow’oﬁoé,
DO ONENE VL.

Options :

1. % A OO0 B @0 S°(¢hadd

2. % B 0O € e S

3.% A B0 C e S5°(hadd

4.9 A, B B8O C

Question Number : 82 Question Id : 630680280318 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and select the correct statement(s) with respect to Telangana State Statistical Abstract 2022:

A : Rangareddy has the highest Gross Enrollment Ratio (GER) among all the districts at all three levels.

B : Hyderabad district experienced the highest drop-out rates in primary (7.37%) and Upper Primary (7.78%).
C : Rangareddy district, with 2,929 schools, has the highest number of schools in the state.

D : Telangana has a total Teacher-Student Ratio of 22 combining all levels of school education.

Options :

1. ¥ A and B only
2. % Aand C only
3. % Band D only
4, % Cand D only
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Question Number : 82 Question Id : 630680280318 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
80 a°¢3Q A, BOOTTED T a) APOFSE PT*50 2022 0 @9 NDDE0D) DT (DEEIS(©) JOTHT O :

A 8 PO Q) TS SOTBE e@ehBE AP SR V) (GER)D 08 &08.

B : 35072070 23T (21G00E (7.37%) 0805 (BFPGNES) ¢ ST (7.78%)S 96550 (R-0959¢5 BEH
LANTV0A.

C: B0MPBG 28X 2,929 FETOOS, T RNOS'R @SOS FETOOL O 0.

D : BOOMETES FEFTO DS TB0E) IS0 90 FONOX EONSB GalrersON-D 0 DN 22 P &0A.
Options :

1. ¢ A 8050 B @0 $35°(¢hadd

2. % A SHBO C e S3°(¢hadd

3. % B 08aA%0 D e S add

4. % C 0005 D e S3°(¢hadd

Question Number : 83 Question Id : 630680280319 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the largest district of Telangana (area wise)?
Options :

1. ¥ Nalgonda

2. ® Nagarkurnool

3. ® Rangareddy

4. ¥ Bhadradri Kothagudem

Question Number : 83 Question Id : 630680280319 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOmrRsS @SS 2 (DVGO HSOT) IE?
Options :

1. % 350

2. % 30887 O

3. % Sormrss

4. ¢ PO TSrTOo

Question Number : 84 Question Id : 630680280320 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Manganese ore occurs in which of the following districts of Telangana?
Options :

1. ¥ Khammam

2. % Adilabad

3. # Warangal

4. # Medak

Question Number : 84 Question Id : 630680280320 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0t QR A0 BOOTEIS 1808 & BPS” ©DNOE?
Options :

1. % 2020

2. ¥ gHrrd

3. % S80S

4. % 8

Question Number : 85 Question Id : 630680280321 Is Question Mandatory : No Calculator : None Response Time : N.A Think

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 35/63



31/07/2023, 18:06

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match Telangana's icons with their names.

Icons

Their Names

a) State bird

(i) Jinka

b) State flower

(ii) Jammi Chettu

c) State animal

(iii) Palapitta

d) State tree

(iv) Tangedu

Options :

1. # a-ii, b-iii, c-iv, d-i
2. % a-iii, b-iv, c-i, d-ii
3. ® a-iv, b-ii, c-i, d-iii

4. % a-ii, b-iv, c-i, d-iii

Question Number : 85 Question Id : 630680280321 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BROTPE QP O TPt DOFT RADOSE.

Dy en aoed D
a) U“‘fg D& (i) &os
b) Uﬂ‘fg 2DaY0 (i) 22y, e
0) mﬁg 20805 (i) Drerooe
d) o o (iv) ©orico

Options :

1. ® a-ii, b-iii, c-iv, d-i
2. % a-iii, b-iv, c-ii, d-i
3. ¥ a-iv, b-ii, c-i, d-iii

4. % a-ii, b-iv, c-i, d-iii

Question Number : 86 Question Id : 630680280322 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers does NOT flow from Telangana?

Options :

1. # Paleru

2. #® Musi

3. # Manjira

4. % Saptamukhi

Question Number : 86 Question Id : 630680280322 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BOB SO BOTPED TP (635703 S E?

Options :
1. % S
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2. % 3R
3. % 00288
4. ¢ JQ0Y

Question Number : 87 Question Id : 630680280323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which soil occurs majorly in Telangana covering about 48% of the total soil?
Options :

1. ¥ Black Soil

2. % Alluvial

3. ¥ Red Soil

4. % Desert Soil

Question Number : 87 Question Id : 630680280323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOmS’ D IS0 IO’ 48% JQB0D &) (DTS T E?
Options :

1% 30 I

2. % 2,0(¢00¢E3

3.¢ 8 I

4. % Q@8 I

Question Number : 88 Question Id : 630680280324 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which is the largest river in Telangana?
Options :

1. # Krishna

2. ¥ Godavari

3. # Tungabhadra

4. % Manjira

Question Number : 88 Question Id : 630680280324 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SOOTS @SR S IE?
Options :

1%

2. ¥ Fordd

3. % B90HES

4. % 202398

Question Number : 89 Question Id : 630680280325 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are correct or incorrect.

Statement I: As of June 2023, Gangula Kamalakar is the Consumer Affairs Food & Civil Supplies Minister of Telangana.

Statement II: The Deepam scheme was launched in the state on July 9, 1999 for distribution of LPG connections to women from below
poverty line.

Options :

1. ¥ Both the statements are correct

2. ¥ Both the statements are incorrect

3. % Statement I is correct; Statement II is incorrect

4. % Statement I is incorrect; Statement II is correct
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Question Number : 89 Question Id : 630680280325 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 DI 180N B IS B OB 52 HO0I0A.

DEES I: 2 2023 °¢38, 15010 EerEd Be>0mren DADBFHTE) $5935T7eN), €355 HBAW DS SBNT°® F°P
0.

(DEES IT: BEE5BDEL BMHSS K> serFerE) LPG ETE. H0ES 800 28 9, 1999 & TR0 * Q10 H&E0
PB0DONDE0A.

Options :

1. ¥ BOC (08I0 AT

2. % BO (0800 OB 5°)

3% (HELS T OBEO; (HEOS 1 HBSE S5

4 % (DEDS T HBIE §950; (HEDS 1 SBSE

Question Number : 90 Question Id : 630680280326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the population density of Telangana as per Census 20117
Options :

1. % 312 per sq. km

2. % 315 per sq. km

3. # 320 per sq. km

4. % 300 per sq. km

Question Number : 90 Question Id : 630680280326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B2y BELO |DFH0 SOOMTED BIT0|ed DOed?
Options :

1. % 2,8 sq. km 80 312

2. % 2,85q. km 0 315

3. % 2,8 5q. km 30 320

4. % 2,8 5q. km %0 300

Question Number : 91 Question Id : 630680280327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the child sex ratio (females per 1000 males) as per Census 2011 for Telangana?
Options :

1. # 950

2.%932

3. % 930

4. % 945

Question Number : 91 Question Id : 630680280327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B> BEL [5G0 B0 DO Ao AIE (1000 HOE HBDOE Li)@o) D0E5?
Options :

1. # 950

2. % 932

3. % 930

4. % 945

Question Number : 92 Question Id : 630680280328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Identify the correct pair of ‘district’ and its ‘Rythu bazaar’.
Options :

1. ¥ Hyderabad — Alwal

2. % Nizamabad — Falaknama

3. ¥ Mahabubabad — Miryalaguda (NSP Camp)

4. # Vikarabad — Yellandu X Road

Question Number : 92 Question Id : 630680280328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B OO P Bedd 2223°0 AT DB 235 18050k
Options :

1. ¢ 30728 - @er O

2. % 2323028 - DOSTI®

3. % 0rarererd - DTEENCS (NSP 5°50)

4. % J52072rE - TPV X B&

Question Number : 93 Question Id : 630680280329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana State Power Generation Corporation Limited was incorporated under the Companies Act, 2013 on which date?
Options :

1. % 19 May 2014

2. % 22 May 2014

3. % 19 May 2015

4. % 19 May 2013

Question Number : 93 Question Id : 630680280329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

00 3980, 2013 80 BOMTE TR D30 BIBVAR 528 H)BAS OWBE 9T ) BAS FDOIDB0E ?
Options :

1.4 19 32014

2. % 22332014

3.% 192015

4. % 19 32013

Question Number : 94 Question Id : 630680280330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are correct or incorrect.

Statements:
I) The Transport department’s revenue collection of Telangana state was 332,28.69 crore in the year 2020-21.
IT) The Transport department’s revenue has never shown a negative growth rate.

Options :

1. % Both the statements are correct

2. ¥ Statement I is correct; Statement II is incorrect
3. % Statement I is incorrect; Statement II is correct

4. % Both the statements are incorrect

Question Number : 94 Question Id : 630680280330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 DI 180N B IS B OB 7S HO0I0A.

DESSen:
1) 2020-21 D055 YISO’ BOOMTED TR SFeT F°R STTONO 32,28.69 V.
1) ST F°P ST°ON0 DY) KEIHQ BN VNS,
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Options :
1. * BOr (D83 SBSD
2. ¢ [HEEOS T IBIO; (DEIS 11 HBIE 5960
3. % [HES T IDIB 5°¢; (DEES 1T HBIE
4. % BOC (08I0 AT 5°)

Question Number : 95 Question Id : 630680280331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which project of the government of Telangana won the Gold Icon Award at Digital India Awards 2022 in the category ‘Digital Initiatives
in Collaboration with Start-ups’?

Options :

1. % T-Hub

2. % T-Chits

3. % Smart Nutrient Management of Soil
4. % We Hub

Question Number : 95 Question Id : 630680280331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B80S 0K @50 ) 202265 ‘P-9D HTFSE0S GBS YVNTNE3SY) Va0 Be>oTred (DENS ¢ & (RS
S 05°8 9D FenTHZ0E?

Options :

1. % T-5°0

2. % T-QN)

3. ¢ 083 B8y 0 FNE B 557
4. % Q5B

Question Number : 96 Question Id : 630680280332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following festival is celebrated in Telangana only?
Options :

1. # Bonalu

2. # Baishaki

3. # Karaga

4. % Durga Puja

Question Number : 96 Question Id : 630680280332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BoBE3S” BOTPEIES’ (553 ENEOR HOCRH DE?
Options :

1. ¢ S'ren

2. % 233°8

3. % 864

4. % O Yy

Question Number : 97 Question Id : 630680280333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which craft form is also known as 'bell metal craft'?
Options :

1. # Bidri craft

2. % Dhokra metal craft

3. ® Banjara needle craft

4. ¥ Bronze metal craft
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Question Number : 97 Question Id : 630680280333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D TFREF® i 'BS S 50" @ 0T DT E?
Options : )

1 % DO TOES

2. ¢ 8l S 08

3. % 2023°0° rd FOEY

4. % 2005 S5 FOEY

Question Number : 98 Question Id : 630680280334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following crafts with the correct process involved or the themes used.

CRAFT PROCESS INVOLVED/THEMES USED

a) Bidri Craft 1. Traditional Handmade Fabric

b) Banjara Needle Craft 2. Oxidation

c) Nirmal Arts 3. Coatings of different clay

d) Bronze Castings 4. Bell Metal Craft

5. Themes from Ramayana and Mahabharata

Options :

1. ¥ a-2,b-1, ¢c-5,d-3
2. % a-3,b-2,c-1,d-4
3. % a-2, b4, c-1-d-3
4. % a-3,b-4,c-1,d-2

Question Number : 98 Question Id : 630680280334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 TFPDSTD TR W0S PS03 I &Doir o @@D‘;Q“Uﬁ REDCL06

RSV 2F® pEaH /edAErhod addydo
a) O rHsv 1. Froporon BB 3D Do

b) 20ar0° 2® TFREY | 2. &93EDD

c) LS Swew 3. D0 DD 20V WPt

d) seony BS), e 4. 565 S SV

9. TPRPOiE a0dOin dDfrCEre ok @adyTren

Options :

1. ¥ a-2, b-1, c-5, d-3
2. % a-3,b-2,c-1,d-4
3. % a2, b-4,c-1-d-3
4. % a-3,b-4,c-1,d-2
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Question Number : 99 Question Id : 630680280335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are correct or incorrect.

Statements:
I) The Kakatiya rule led to the evolution of dance forms.
II) Perini Sivatandavam is also known as the dance of warriors.

Options :

1. ¢ Both the statements are correct

2. % Statement I is correct; Statement II is incorrect
3. # Statement I is incorrect; Statement II is correct

4. % Both the statements are incorrect

Question Number : 99 Question Id : 630680280335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 DI 188N B IS B OB 7S HO0I0A.

DEerSen:

1) SPEB00 T SPebs BFare DOEFIFIE OB OE.

1) DOE3 BIT0857°Q) BTN S9¢550 Q) St @OErED.
Options :

1. ¥ BO&T DESeD HBSD

2. % |DZOS TIBIE; (DS T OTIE 5°¢0

3. % (DEOS TIBIO 595 (HEES T HBSE

4. % BOC® 108NN AT %)

Question Number : 100 Question Id : 630680280336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana Thalli Statue was featured by .
Options :

1. # Kandi Narsimulu

2. ¥ B Venkataramana Chari

3. ® Naresh Kumar Pallati

4. # ] Venkateshwarlu

Question Number : 100 Question Id : 630680280336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 86 Bromren SO JHFA) TELITE .
Options :

1. # 308 38 yoTven

2. ¥ &) 30887 8

3. % 30 $03°0 HEred

4. % B J08B3 D

Question Number : 101 Question Id : 630680280337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ramappa temple, a century engineering marvel named after its architect, Ramappa, was proposed by the government of India as
its only nomination for the UNESCO World Heritage site tag for the year 2019.

Options :
1. % 1ot
2. % qth
3. 13t
4. % qoth
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Question Number : 101 Question Id : 630680280337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2019 00588 30°QA8 UNESCO (D0 3°E06b § |DTFOT (925065 SO (DBIPE0DD B8 TR T%aD)) BIANO0.
AR 0O ) TZ0D) B ST A8 & 0 SDYOD. /A 35720708 H020H0DS R0BIBON e0)eh0.

Options :
1. % 1285
2. % 118
3.% 138
4. % 105

Question Number : 102 Question Id : 630680280338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following authors/poets from Telangana is also known as 'Daaji’?
Options :

1. ¥ Kamlesh D Patel

2. % Suravaram Pratapa Reddy

3. # Vattikota Alwar Swamy

4. ® Suddala Hanmanthu

Question Number : 102 Question Id : 630680280338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SBOOMrEIZd TOAS (0B BrI0ne5e0/5:HOS JIBQ 'we8! e S DV ED?
Options :

1. ¢ 8082 & HS

2. % 08580 |Hed B

3. % 5¢38%) es9 55 r g

4. % 0T P08

Question Number : 103 Question Id : 630680280339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following rulers built the Jogulamba Temple in Alampur?
Options :

1. ¥ Rudramadevi

2. % The Kakatiya rulers

3. # The Western Chalukya rulers

4. # The Badami Chalukya rulers

Question Number : 103 Question Id : 630680280339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0® TR @08’ SMhHeroed esedsr) AB0DNTE DSIB?
Options :

1. % BT

2. % B0 FPOZOEN

3. % 5300 TE0ES are>Bven

4. ¢ 2570 TS POFVeN

Question Number : 104 Question Id : 630680280340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct?

A) The Satavahanas’ rule led to the evolution of Perini Sivatandavam, a dance form.
B) A variant of Yakshagana called ‘Chindu Bhagavatham’ is performed widely across Telangana.
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C) The word ‘Chindu’ in Telugu means ‘jump’.
D) ‘Rangam’ is an important part of Bonalu festival.

Options :

1. % A, Band C only
2.% A, B,Cand D
3. % B, Cand D only
4. % A and B only

Question Number : 104 Question Id : 630680280340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (DELSOS” DBIQ/D AE/N?

A) TSTTRNE TS O] RSO0 &R S9ehs BT DOETFHIFIE BBBVOA.

B) ‘D0 27150’ @9 NS BFarr0esB0 BOMTED E0HEF DRSO (DB 0HRS0R.
C) BRSO’ @ HE TS0 (jump) 0 e0Jo.

D) S°red HoHES ‘G0N0’ 2.8 SN 25O0.

Options :

1. % A, B 08050 C @0 $35°(¢had

2. % A, B, C N8N D

3.¢ B, C 08050 D e S ¢hadd

4. % A 08050 B e Sr(ehad

Question Number : 105 Question Id : 630680280341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arranges the given government initiative in the chronology of their date of launching. (First to launch to last)

a) KCR Nutrition kit

b) Mana ooru- Mana badi

¢) Kanti velugu

d) 'Kalyan Lakshmi' / Shadi Mubarak.

Options :

1.¥d,b,a,c
2. % a b, cd
3.% ¢, d,b,a
4. % d,c,a,b

Question Number : 105 Question Id : 630680280341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IS DASTEN 3¢S (PB0D0DS BHE 5°O|ZS3T0OBOT (23025 B3 0GB DNE HBE0) €03 DY),
H80B%0&.

a) 32e35 530S 8¢S

b) DA &3 — DS 25

¢) $0¢3 Jend

d) '$erse0 ©8 7 2 Snerds
Options :

1.¥d,b,a,c

2. % a,b,c,d

3.% ¢,d, b,a

4. % d,c,a,b

Question Number : 106 Question Id : 630680280342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Telangana as a geographical and political entity came into existence on
Options :
1. % 2 June 2014
2. % 5June 2014
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3. % 2 July 2014
4. % 5 July 2014

Question Number : 106 Question Id : 630680280342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YL DO TPBEAH HSOT BOrerT &S ©DoDOA.
Options :

1. 2237 2014

2. % 5202014

3. % 227832014

4. % 52632014

Question Number : 107 Question Id : 630680280343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The State Reorganization Commission (SRC) submitted its report on and recommended the formation of Telangana state.
Options :

1. % 25 December 1955

2. % 30 September 1955

3. % 21 November 1955

4. % 15 October 1955

Question Number : 107 Question Id : 630680280343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T DG IVEB EMAS (SRC) & 5 ASBEXD 50800 BOOTTED TR DT°IENE0 DS TROA.
Options :

1. % 25 300 1955

2.9 30 Lyod 1955

3. % 21 350205 1955

4. % 15§25 1955

Question Number : 108 Question Id : 630680280344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

M Chenna Reddy founded the political party in 1969 to spearhead the Telangana statehood movement.
Options :

1. # Telugu Desam Party (TDP)

2. ¥ Telangana Praja Samithi (TPS)

3. # Bharat Rashtra Samithi

4. # Telangana Rashtra Samithi

Question Number : 108 Question Id : 630680280344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A T, B 19696 BOOMTED TR SIS’ T°OHNESH S0 SFONTIE e ooa3dod 0 Fowd.
Options :

1. % Seh33o 0 (€3G42)

2. ¢ BOOME (023 D3 (¢3D)

3. % 2r8ed 07 Daded

4. % SO0 T°la) Oed

Question Number : 109 Question Id : 630680280345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are true or false.
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Statements:

I) On 17 September 1948, the Indian government conducted a military operation called ‘Operation Polo’ to bring Hyderabad state into the
Indian Union.

IT) The UPA government started the statehood process in July 2012 and concluded the process by passing the statehood bill in both
houses of Parliament in February 2013.

Options :

1. # Both the statements are true

2. ¥ Both the statements are false

3. % Statement I is true; Statement II is false

4. % Statement I is false; Statement 1T is true

Question Number : 109 Question Id : 630680280345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80 Q)N DI Dev0 B @53 e H800&.

DEerden:

IL) 1948 R0 178, 33078 Tl 278 DTS 8 S0ER T8 2Geh (920 50 ‘@HBAS FS” e
8 5D QB §ar0D0d.

II) G50Da) 92506 0 23783 201265° T3 DTYe (DEAND (FS0D0D0E 0B (23558 201365 FTRDOEN 2505
9250 TR WU DN eSBFA0TIC0 ° ST° (80 SNAODOA.

Options :

1. % DO HEDSD 050

2. % BOC 108NN 90550

3.9 (DB T Oe550; (DEEIS T 90ed50

4. % |DEOS 1 90e550; (D8N 1T b g0

Question Number : 110 Question Id : 630680280346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are correct or incorrect.

Statements:
I) In 1952, Dr. Burgula Ramakrishna Rao was elected as the Chief Minister of the Hyderabad State in its first democratic election.
II) In 1976, the state unit of the Bharatiya Janata Party (BJP) passed a resolution seeking a separate Telangana.

Options :

1. # Both the statements are correct

2. % Statement I is correct; Statement II is incorrect
3. # Statement I is incorrect; Statement II is incorrect

4. % Both the statements are incorrect

Question Number : 110 Question Id : 630680280346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 DS 180N OB IS B OB 7S HO0I0A.

DEedrden:

}.) 1952 65, . 202 TPeDE YL T S3CIT"23E T 22500 TBNEY RCIE3 (292775605 DL EOES 30§30 (&3P
D) A5,

0 1%76 6‘?2@’6@0& 2358 PO (DBD) 07l G |DBE B0 Fehr 2.8 ST, SSTFO0D0A.
Options :

| % BOd HESE) HDID

2. ¥ (DS T 5DI; DES T 5BSO S

3% [DES T DBIG S°E; (HEDS 1 5D

4. % BOC® (0880 OB 5%

Question Number : 111 Question Id : 630680280347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Each of A, B, C, D, E, F and G has an exam on a different day of a week starting from Monday and ending on Sunday of the same week.
Only D has the exam after E. C’s exam is on Thursday. B’s exam is immediately before G’s exam. Only two persons have exams between
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E and A. On which day does F have the exam?
Options :

1. ® Tuesday

2. ® Wednesday

3. ¥ Friday

4. % Monday

Question Number : 111 Question Id : 630680280347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A, B, C,D,E, F 8050 G OO0 (8 2,83 88 0S50 0 (PS030 SOTB0S S0AD 2.8 30 IB 5
FareoSS HEE en =) 0m. E 507 5¢b DE S(¢hadd DOE G0&. C TB0E) HBF. eSS0 a0 &0&. G By, HEE.50
&5 €9 N0 B By HDEE &0B. E OGN A © 30655 9B 55300080 $337(¢5530 HEE e &) o0, @ONS F 8 &
B2 HBE, &0e00H?

Options :

1. #® QorFrdo

2. % 208580

3. ¢ HE>S0

4. 8 FHS0

Question Number : 112 Question Id : 630680280348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A company produces different numbers of televisions in the first six months of the same year, i.e. from January to June. The production in
January is more than the production in April. The production in February is lesser than the production in May. The production in June is
more than the production in March. The production in January is lesser than the production in March. The production in February is more
than the production in June. In which month was the production the second highest?

Options :

1. ¥ February
2. # June

3. ¥ May

4. # March

Question Number : 112 Question Id : 630680280348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 DO B3SO DI0G 23S HBF 28 D03 IB0S D TS e TS @I 3598 KOG 237 B ST
H0DOS” BODBSDOL 565318 TR, IS e5¢8 ) 0T BB &5 JBL ST GOA. 30 FOS
€565 S0 DSBS Ereh )& 80 S GOA. S8 YR €5e¢h IS S0 2SR E5¢h ) DBV &GO, X8I
€651 S0 BSOS’ ered 183 B0 ST GO, SS'Q &éh)B 0T D(IOES €e¢h I DEVY ST GO, oS
BOCHS €05 5DE €5eh 18 O IS TOHDB0E?

Options :

1. ¢ D258

2. % 2

3.8

4. % 3°8)

Question Number : 113 Question Id : 630680280349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to
be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All rooms are kitchens.
All kitchens are gardens.
Some rooms are parks.

Conclusions:

I. Some gardens are rooms.
II. No kitchen is a park.

III. Some kitchens are parks.
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Options :
1. % Only conclusion I follows.
2. # Only conclusion I and II follow.
3. % Only conclusion I and III follow.

4. % Either conclusion IT or IIT follows.

Question Number : 113 Question Id : 630680280349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AN DEEINO OO BT IS 950G, PGPSO SOV TAFOE 8)ed) O &3 eN
E20D8D)E3E, (5SS’ 29 SRS DIFTTBEND Q23N ZFANT, YD IS BT E/D (DS
0,801 @IS /AT AYoN0I0R.

DEerSen:

Benen @) SodrFeex.
SOLFTOEN ) SEIEN.
) Been ardoyen.

Soveen:

L §Q) Seren Keoen.

11 S0EHEE D& ;&) S°EN.

IM1. Q) S0EBEN °B0ye0.

Options :

1. % Q07850 I 37|53 9:00B0A.

2. % ST7e) [ 0O I &0 S5 e9OBTOm.
3. ¢ ST [ OB I €0 ST(e9ad e dOET .

4. % S07850 [ 5 B 15 E 2,863 900N,

Question Number : 114 Question Id : 630680280350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to
be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All roots are bricks.
All tubs are kites.
No brick is a kite.

Conclusions:

I. No root is a tub.
II. No kite is a root.
III. No brick is a tub.

Options :

1. # Only conclusions I and II follow.

2. % Only conclusions I and III follow.

3. # Only conclusions II and III follow.

4. % All the conclusions I, IT and III follow.

Question Number : 114 Question Id : 630680280350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QDS (DEESE S0B050 BT 2R(HST 3350, TS0 BOVD TATOE £eS) O €5ed) eV
EDDODIN)EE, (HELSOES” 2% §20B DRAPTTBEND D3N 2TAAF, AR BTRTOES DE/D (HDEESD
8350 @9 NOBNOE /AT APoN0I0A.

DEeSen:

I @) QeNEe.
Sen @) mOIErew.
2608 A N0 5.

Somren:
136 96 & 5.
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IL TPODEI0 D B 5.
IL @e0E IO &3 5°¢%.
Options :
1. % Q07ae0 I B0 I &0 S5(e553) €9DEI°ow.
2. % ST7e) [ 0O I €0 SI(¢533) e9:DOBT .
3. % S0 I S0B05W I €0 S7|e5% 90O ow.
4.9 1, 11 08050 11 Q) ST @O on.

Question Number : 115 Question Id : 630680280351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among five friends named K, L, M, N and O, the height of K is more than that of only two other friends. L’s height is more than O’s
height. N’s height is more than M’s height. O’s height is more than that of K and N. K’s height is more than that of N and M. Whose
height is less than O’s height?

Options :

1. ¥ K, Nand M

2. % Only M and N
3. % Only K and N
4. % Only K

Question Number : 115 Question Id : 630680280351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

K, L, M, N 08050 0 €95 22 e 20005 ) 2re0eeS, K G308y e8) @B ) areide) 08 S3(eh 250y, L
TBNEY D) O D) 0TI DBVY03. N TZNEY D0 M )8 EOTY BV, O TBNEY D8 K 308G N © 0T DB0385. K
TBNEY D) N DBAD M @ ) E0TY D802, @O0 O o)) EOTY DeI8 ) 550057

Options :

1. ¥ K, N 080 M

2. % M 0B N 0 S°(ehad
3. % K B0 N e S(eh o
4. % K S(edo

Question Number : 116 Question Id : 630680280352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IfB=P <M <U=R>H >E, then which of the following conclusions is INCORRECT?
Options :

1. % R>E

2. ¥ R>M

3.#U>B

4 ¥ U<E

Question Number : 116 Question Id : 630680280352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.83¥B=P<M<U=R>H>E @o0SVS, 0% 950G a¢3¢5° 08578 J&?
Options :

1. % R>E

2. ¥ R>M

3.#U>B

4. ¥ U<E

Question Number : 117 Question Id : 630680280353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the term from among the given options that can replace the question mark (?) in the following series.

PTQ-7, NQM-9, LNI-13, JKE-21, ?, FEW-69
Options :
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1. ¥ HHA-39
2. ¥ HHA-37
3. ¥ HGZ-36
4. % HIA-38

Question Number : 117 Question Id : 630680280353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8005 855388 36365°Q (577, §5°(7) 238 TOHHD 5 529BS DODES 0B 2.8 D) VOTHEOA.

PTQ-7, NQM-9, LNI-13, JKE-21, ?, FEW-69
Options :

1. ¥ HHA-39

2. ¥ HHA-37

3. % HGZ-36

4. ® HIA-38

Question Number : 118 Question Id : 630680280354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the term that is INCORRECT in the following series.

PDNT-19, XRHT-23, XLVB-39, FZPB-75, FTDJ-139, NHYJ-236
Options :

1. ® FZPB-75

2. % XLVB-39

3. ¥ FTDJ-139

4. ¥ NHYJ-236

Question Number : 118 Question Id : 630680280354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8005 AN DA (33S” D85 DT, DO 0A.

PDNT-19, XRHT-23, XLVB-39, FZPB-75, FTDJ-139, NHYJ-236
Options :

1. ® FZPB-75

2. % XLVB-39

3. ¥ FTDJ-139

4. ¥ NHYJ-236

Question Number : 119 Question Id : 630680280355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many pairs of letters are there in the word ‘CONTROL’ which have as many letters between them as are there between these two
letters in the English alphabet? (Consider counting both forward and backward directions.)

Options :
1. # None
2. % One
3. % Two
4. ® Three

Question Number : 119 Question Id : 630680280355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘CONTROL’ @ D0 I, 835 @8 T°e 058 50 @98 T°e> HOoWS €300 €98 3570 150065°Q &9 Bockh e9f Tre
S K50 @8 T SOPEED DedFPIOTT EOLFON? (QNOCNE OO JNEZ B0t OFD B8 oNETN),
HON3008B.)

Options :
1% & B
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2. % 2,8¢3
3. ¥ BO®
4. % 0

Question Number : 120 Question Id : 630680280356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 is added to each even digit and 1 is subtracted from each odd digit in the numbers given below. Then, all these numbers are arranged in
the ascending order from left to right. Which number will be second from the right end?

(Left) 589, 742, 689, 593, 368, 892 (Right)
Options :
1. % 983
2.9 798
3. % 778
4. % 653

Question Number : 120 Question Id : 630680280356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180¢5 5 5DAS D05 03T D HB ©0TH 1 S, (93 232 90T HOG 1Q BVIATE. &3 SSoaTed )
HOWIOXT s 0B S0BE eT5e (ED0ES @638 YIS, Fo& DS 0 BOS DO DE?

(DC82) 589, 742, 689, 593, 368, 892 (50¢%)
Options :
1. % 983
2.9 798
3. % 778
4. % 653

Question Number : 121 Question Id : 630680280357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Refer to the following number symbol series and answer the question that follows.

Left)4 @5#893%45#823%968&4968#473#3849@5&3298@72#36%738#2% & 392 (Right)

How many even numbers in the above string are immediately followed by an odd number and also immediately preceded by a symbol?
(Consider counting from left to right only.)

Options :
1. %3
2.¥4
3.%5
4. % 6

Question Number : 121 Question Id : 630680280357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
180 9X50AS Hogrg DY e (BB 3R, (oA (0%)50 DrGS0 9SS0,

(D)4 @S5#893%45#823%968&4968#473#3849@5&3298@T2#36%7T38#2%&392(30A)

2 S Q) 58 oW 5E 9 FeHE TS0’ 28 23520 DOWS AN 3.6 SN0 TS0 28 D)0 EOA?
(D5 0B 0B S(¢hadd B8Y0oRER) DOK0H0R.)

Options :

1. %3

2.¥ 4

3.%5

4.% 6

Question Number : 122 Question Id : 630680280358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 51/63



31/07/2023, 18:06 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In a certain code language, FATHER is written as 174 and MOTHER is written as 237. How will FOSTER be written in that language?
Options :
1. % 222
2. %249
3. % 312
4. % 332

Question Number : 122 Question Id : 630680280358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 Q0 §& 27, FATHER Q 174 Q) 08050 MOTHER Q 237 @9 (0. €8 232263’ FOSTER Q oer (SaE0?
Options :

1. % 222

2. %249

3. % 312

4. % 332

Question Number : 123 Question Id : 630680280359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Roopal is standing in a park facing the northwest direction, and then she turns 135 degrees clockwise. After that, she turns 45 degrees
anticlockwise. Then she turns 90 degrees clockwise. In which direction is he facing now?

Options :

1. # North

2. # Northeast
3. ¥ Southeast
4. % Southwest

Question Number : 123 Question Id : 630680280359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EFHS 2.8 TS0y S AN BIT BOA D> God, ez & 135 G HSsOIS’ BBA0A. € ST e, &I 45
Ao 055 OIS’ BBA0A. €8 SBT°eh 5 90 GAeN DIBIS” BBAOE. S @Y I & HFZ B8A do>b
&GO&?

Options :

1. % &S80

2. % &350

3. ¢ &1 0O

4. % Jed

Question Number : 124 Question Id : 630680280360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster and
the fourth letter-cluster is related to the third letter-cluster.

LAMPS : OZNKH :: FREAK : UIVZP :: GAINT : ?
Options :

1. ¥ TZRMG

2. % SZQMG

3. ¥ TZROS

4. ¥ VRXMG

Question Number : 124 Question Id : 630680280360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
BOCHS €8 B-D0TP0 BneHe3 98 S-007T0 H00057), SO €55 DO SHBCIN TS €98 S-S0
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0¢85 €08 -0 D00, $OA €55 DO 6565 @0F B-DrsTOS D00, O €5) DODEX
DOTHTOR.

LAMPS : OZNKH :: FREAK : UIVZP :: GAINT : ?
Options :

1. ¥ TZRMG

2. % SZQMG

3. # TZROS

4. % VRXMG

Question Number : 125 Question Id : 630680280361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the letter-cluster triad shares the same relationship as that shared by the given triad of letter-clusters.

FOCUS : PGXTV : TKBXZ
Options :

1. ¥ DEALS : EFZMT : 1JDQX
2. ® RINGS : JSMTH : LXPVM
3.+ CLOCK : MDLLD : QHPPH
4. % FIGHT : JGHUI : NKJXL

Question Number : 125 Question Id : 630680280361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

X 50R €& E-050073F (50305300 SrABMTS D0D0GTER) EOA &), @8 803077538 [5O3 $e) DOVED
oo R.

FOCUS : PGXTV : TKBXZ
Options :

1. ¥ DEALS : EFZMT : 1JDQX
2. ® RINGS : JSMTH : LXPVM
3.+ CLOCK : MDLLD : QHPPH
4. % FIGHT : JGHUI : NKJXL

Question Number : 126 Question Id : 630680280362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ¥ BIPWDK

2. # FMTAHO

3. # SZGNUB

4. % KRYFMU

Question Number : 126 Question Id : 630680280362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T @8 E-H0r5Fe0 @9 $0T0N, T3S’ S0 DE 2.8 DRSS 2Ber GOETroN DO 2.8¢3 S o
&0ENOB. DIYOM &) A JONT0A.

Options :

1. ¥ BIPWDK

2. ¥ FMTAHO

3. % SZGNUB

4.+ KRYFMU

Question Number : 127 Question Id : 630680280363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the one that is different.
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Options :
1. ¥ CAPSULE : SDFHOXV
2. % MELTING : OHPJQLW
3. % FLAUNTS : DOIVWQX
4. % NEUTRAL : ODUWXHR

Question Number : 127 Question Id : 630680280363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TN €98 B-Da30TeIN RS FITON, a3e36S s03c) DE 2.8 DPBES’ 2,8er GOETraN N 2.5¢3 DSy o
&OENO0A. DAY &) T*A DOTNTOR.

Options :

1. ¥ CAPSULE : SDFHOXV

2. % MELTING : OHPJQLW

3. ® FLAUNTS : DOIVWQX

4.+ NEUTRAL : ODUWXHR

Question Number : 128 Question Id : 630680280364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the number from among the given options that can replace the question mark (?) in the following series.

11, 19, 34, 63, 120, ?
Options :
1. ® 218
2. % 224
3.9 233
4. % 242

Question Number : 128 Question Id : 630680280364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80¢5 855388 36363°Q (577, §5°.(7) 258 TOHHD 208 DO RS §0GD JODES HOG DOTHEO.

11, 19, 34, 63, 120, ?
Options :
1. % 218
2. % 224
3.9 233
4. % 242

Question Number : 129 Question Id : 630680280365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which number in the following series is INCORRECT?

28,43, 59, 83, 134, 249, 480
Options :

1. % 83

2. % 134

3. % 249

4.9 480

Question Number : 129 Question Id : 630680280365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8005 95 52ES (36365°Q DB HoWS A E?

28,43, 59, 83, 134, 249, 480
Options :
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1. ¥ 83
2. % 134
3. % 249
4. % 480

Question Number : 130 Question Id : 630680280366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which two signs should be interchanged to make the following equation correct?

35 X 7+ 49 + 56 — 14 = 287
Options :
|« <+ and X

) % <+ and +
3 % + and —

4 % X and +

Question Number : 130 Question Id : 630680280366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3005 QEIED DOVSCEFDY DBBODT=AE D TGocd) MHEHOD DO DFCDT0?

35 X7 +49+56—14 =287
Options :
1.« <+ dodiwn X

) % + @odoiw +
3 % + anbaiv —

4 % X anBoin +

Question Number : 131 Question Id : 630680280367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate definite article to fill in the blank.

Please pass me salt.
Options :

1. ¥ the

2. % a

3. % an

4. #® any

Question Number : 131 Question Id : 630680280367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate definite article to fill in the blank.

Please pass me salt.
Options :

1. ¥ the

2. % a

3. % an

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 55/63



31/07/2023, 18:06 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

4. % any

Question Number : 132 Question Id : 630680280368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate indefinite article to fill in the blank.

I have dog that loves to play fetch.
Options :

1. ® an

2.% a

3. # the

4. % some

Question Number : 132 Question Id : 630680280368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate indefinite article to fill in the blank.

I have dog that loves to play fetch.
Options :

1. #¥ an

2.% a

3. ® the

4. ® some

Question Number : 133 Question Id : 630680280369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate adjective to fill in the blank.

She has a voice that captivates the audience.
Options :

1. #® ugly

2. #® definite

3. ¥ soft

4. % harsh

Question Number : 133 Question Id : 630680280369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate adjective to fill in the blank.

She has a voice that captivates the audience.
Options :

1. # ugly

2. ® definite

3. ¥ soft

4. % harsh

Question Number : 134 Question Id : 630680280370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate preposition to fill in the blank.

I'm going a vacation next week.
Options :
1. # by
2. % in
3. % at
4.9 on
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Question Number : 134 Question Id : 630680280370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate preposition to fill in the blank.

I'm going a vacation next week.
Options :

1. ¥ by

2. % in

3. % at

4. % on

Question Number : 135 Question Id : 630680280371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

She / have studied / for the exam / all night.
Options :

1. ¥ She

2. ¥ have studied

3. # for the exam

4. % all night

Question Number : 135 Question Id : 630680280371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

She / have studied / for the exam / all night.
Options :

1. ¥ She

2. ¥ have studied

3. # for the exam

4. % all night

Question Number : 136 Question Id : 630680280372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

He / arrived / on the / airport yesterday.
Options :

1. ¥ He

2. # arrived

3. ¥ on the

4. ® airport yesterday

Question Number : 136 Question Id : 630680280372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

He / arrived / on the / airport yesterday.
Options :

1. ¥ He

2. # arrived

3. ¥ on the

4. ® airport yesterday
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Question Number : 137 Question Id : 630680280373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

They are / going to / will visit their grandparents / next week.
Options :

1. # They are

2. % going to

3. ® next week

4. % will visit their grandparents

Question Number : 137 Question Id : 630680280373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

They are / going to / will visit their grandparents / next week.
Options :

1. # They are

2. % going to

3. ¥ next week

4. % will visit their grandparents

Question Number : 138 Question Id : 630680280374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

She cooks / and clean / the house / every day.
Options :

1. # She cooks

2. % and clean

3. # the house

4. ® everyday

Question Number : 138 Question Id : 630680280374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

She cooks / and clean / the house / every day.
Options :

1. # She cooks

2. % and clean

3. # the house

4. # everyday

Question Number : 139 Question Id : 630680280375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate question tag to fill in the blank.

You're not going to be late
Options :

1. ®¥ were you?

2. % are you?

3. # have you?

4. % aren’t you?
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Question Number : 139 Question Id : 630680280375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate question tag to fill in the blank.

You're not going to be late
Options :

1. % were you?

2. ¥ are you?

3. # have you?

4. % aren’t you?

Question Number : 140 Question Id : 630680280376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in passive voice.

They are building a new bridge across the river.

Options :

1. ¥ A new bridge is being built across the river by them.
2. % A new bridge was built across the river by them.

3. # A new bridge is built across the river by them.

4. # A new bridge has been built across the river by them.

Question Number : 140 Question Id : 630680280376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in passive voice.

They are building a new bridge across the river.

Options :

1. ¥ A new bridge is being built across the river by them.
2. % A new bridge was built across the river by them.

3. # A new bridge is built across the river by them.

4. % A new bridge has been built across the river by them.

Question Number : 141 Question Id : 630680280377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in active voice.

The book was written by JK Rowling.
Options :

1. % JK Rowling was writing the book.
2. % JK Rowling wrote the book.

3. # JK Rowling had written the book.
4. # JK Rowling has written the book.

Question Number : 141 Question Id : 630680280377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in active voice.

The book was written by JK Rowling.
Options :

1. # JK Rowling was writing the book.
2. % JK Rowling wrote the book.

3. ® JK Rowling had written the book.
4. # JK Rowling has written the book.
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Question Number : 142 Question Id : 630680280378 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

We've been discussing the issue for too long. Let's cut to the chase and make a decision.
Options :

1. % To make a quick decision

2. # To take a short break

3. ¥ To change direction abruptly

4. ¥ To get straight to the point

Question Number : 142 Question Id : 630680280378 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

We've been discussing the issue for too long. Let's cut to the chase and make a decision.
Options :

1. # To make a quick decision

2. # To take a short break

3. ¥ To change direction abruptly

4.+ To get straight to the point

Question Number : 143 Question Id : 630680280379 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

When she mentioned the real cause of the problem, she really hit the nail on the head.
Options :

1. # To miss the target completely

2. # To fix something that is broken

3. ¥ To find a solution to a problem

4.+ To make an accurate or precise statement

Question Number : 143 Question Id : 630680280379 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

When she mentioned the real cause of the problem, she really hit the nail on the head.
Options :

1. % To miss the target completely

2. # To fix something that is broken

3. ¥ To find a solution to a problem

4.+ To make an accurate or precise statement

Question Number : 144 Question Id : 630680280380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the given proverb.

A penny saved is a penny earned.

Options :

1. % Earning money takes effort and hard work.

2. ¥ Saving small amounts can accumulate to larger savings.
3. ¥ Money is not the most important thing in life.

4. # Money can make people greedy.

Question Number : 144 Question Id : 630680280380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the given proverb.

A penny saved is a penny earned.

Options :

1. # Earning money takes effort and hard work.

2. % Saving small amounts can accumulate to larger savings.
3. # Money is not the most important thing in life.

4. # Money can make people greedy.

Question Number : 145 Question Id : 630680280381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word.

The artist's painting displayed exquisite detail and craftsmanship.
Options :

1. # Intense
2. % Beautiful
3. ¥ Moderate
4. # Elegant

Question Number : 145 Question Id : 630680280381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word.

The artist's painting displayed exquisite detail and craftsmanship.
Options :

1. ¥ Intense

2. % Beautiful

3. ¥ Moderate

4. % Elegant

Question Number : 146 Question Id : 630680280382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

The speaker delivered an eloquent speech that moved the audience to tears.
Options :

1. # Inarticulate

2. # Ordinary

3. # Indecent

4. % Fluent

Question Number : 146 Question Id : 630680280382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

The speaker delivered an eloquent speech that moved the audience to tears.
Options :

1. # Inarticulate

2. % Ordinary

3. # Indecent

4. % Fluent

Question Number : 147 Question Id : 630680280383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Select the INCORRECTLY spelt word in the given sentence.

Regardles of the weather, we decided to have a picnic at the park.
Options :

1. ¥ Regardles

2. # Weather

3. % Decided

4. # Picnic

Question Number : 147 Question Id : 630680280383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the INCORRECTLY spelt word in the given sentence.

Regardles of the weather, we decided to have a picnic at the park.
Options :

1. ¥ Regardles

2. % Weather

3. % Decided

4. #® Picnic

Question Number : 148 Question Id : 630680280384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the INCORRECTLY spelt word in the given sentence.

The athlet performed exceptionally well in the competition.
Options :

1. ® Performed

2. # Exceptionally

3. % Athlet

4. # Competition

Question Number : 148 Question Id : 630680280384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the INCORRECTLY spelt word in the given sentence.

The athlet performed exceptionally well in the competition.
Options :

1. # Performed

2. # Exceptionally

3. % Athlet

4. % Competition

Question Number : 149 Question Id : 630680280385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate homophone to fill in the blank.

I a delicious cake for dessert.
Options :

1. # eight

2. % ate

3. % at

4. % aid

Question Number : 149 Question Id : 630680280385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 62/63



31/07/2023, 18:06 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
Select the most appropriate homophone to fill in the blank.

I a delicious cake for dessert.
Options :

1. # eight

2.9 ate

3. % at

4. % aid

Question Number : 150 Question Id : 630680280386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate homophone to fill in the blank.

The arid stretched endlessly before us, their barren expanse reflecting the harshness of nature's unforgiving temperament.
Options :

1. # planes

2. # panes

3. ¥ plains

4. % plans

Question Number : 150 Question Id : 630680280386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate homophone to fill in the blank.

The arid stretched endlessly before us, their barren expanse reflecting the harshness of nature's unforgiving temperament.
Options :

1. # planes

2. # panes

3. ¥ plains

4. # plans
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